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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271357
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592722827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series:

AE EI'IM

Options:

1. * MM
2. % MJ
3.« MT
4. v MQ

Question Number : 1 Question Id : 54592722827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

AE EI IM

Options:

1. = MM
2. » MJ
3.« MT
4. v MQ

Question Number : 2 Question Id : 54592722828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the series?

IGE, SQO, VTR, ZXW
Options:

1. = IGE

2. % SQ0O
3. = VIR
4, v ZXW

Question Number : 2 Question Id : 54592722828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Teld T Tl ?

IGE, SQO, VIR, ZXW

Options:

1. = IGE
2. = SQO
3. = VIR
4. v ZXW

Question Number : 3 Question Id : 54592722829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If all the letters of the word ‘TEAM’ are arranged according to
the Dictionary then which letter will come SECOND from the
right end?

Options:

1.+vM
2.« T
3. = E



4 % A

Question Number : 3 Question Id : 54592722829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tfe ereg 'TEAM' & T 31&TT T ASEHILT F AN SJTREAA
Teham ST & AT ¢ SR 8 hisl &1 378 gL gHEI?

Options:

1. v M
2. = T
3. = E
4. = A

Question Number : 4 Question Id : 54592722830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Violet
2. ® Green
3. = Red
4, v Gold

Question Number : 4 Question Id : 54592722830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av fAredl & O R{AYH AT HL

Options:

1. = Saralr
2. = &

3. % olTel
4. v FrT

Question Number : 5 Question Id : 54592722831 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. v BDEGI
2. » OPRTV
3. * KMOTW
4. » RVZAC

Question Number : 5 Question Id : 54592722831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a7 fahedt & f@ee T o |

Options:

1. v BDEGI

2. = OPRTV
3. = KMOTW
4. = RVZAC

Question Number : 6 Question Id : 54592722832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. » DCA
2. = TSQ
3. v YXW
4. = UTR

Question Number : 6 Question Id : 54592722832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedt & & favA &1 v

Options:

1. = DCA




2. = 18Q
3. v YXW
4. = UTR

Question Number : 7 Question Id : 54592722833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

SCHOOL: : - HOSPITAL : PATIENTS

Options:

1. = Teachers

2. # lass rooms
3. v Students
4. = Bullding

Question Number : 7 Question Id : 54592722833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farTlellET weaT A XY 910 [¥eredl & O Trleyd
T/ TETT Tl gﬁvl

Tl . 3TEIATl @ AL
Options:

1. = 3TEIT9h

2. = hETT 9@
3. v B
4. » TARI

Question Number : 8 Question Id : 54592722834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTION: In the following question, select the related
letter/word/number from the given alternatives.

India Gate : New Delhi : :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. City Palace : Jaipur

2. Amer Fort : Udaipur
3. Meenakshi Temple : Madurai
4. Victoria Memorial : Siliguri

Question Number : 8 Question Id : 54592722834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

focer: TaeTo@d wed H &0 90 Aehedl & & TFaledd
ITETT/TSS/TTIT hi gﬁvl

=37 Ae: oI5 ool

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. [ o SR

2. 3MAT & fohelm @ 32aqe

3. Hiemelr AT : AU

4. T AAREer @ AeleET

Question Number : 9 Question Id : 54592722835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, select the related
letter/word/number from the given alternatives.

RT : WZ . AC
Options:

1. v RU
2. » PW
3. = EM
4.« WX

Question Number : 9 Question Id : 54592722835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

RT : WZ : AC :
Options:

1. v RU
2. = PW
3. = EM
4. = WX

Question Number : 10 Question Id : 54592722836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if SAW = 86 and GROW = 126, then
GAP =7

Options:

1. % 53
2. v 48



3.% 75
4. % 56

Question Number : 10 Question Id : 54592722836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush fafeere de AT A, afs SAW = 86 31 GROW = 126,

ar GAP =7
Options:

1. = 53

2. v 48

3. = 75

4. = 56

Question Number : 11 Question Id : 54592722837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 'Macto folc bing’ means Smoother than petals,’bing rahb
notp’ means Beautiful petals fragrance and notp dofg folc’
means Beautiful than happy. What would 'fragrance’ stand
for in that language?

Options:

1. = notp
2. v rahb
3. = bing
4. = Macto

Question Number : 11 Question Id : 54592722837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



gfg 'Macto folc bing' T 3727 & Smoother than petals, 'bing
rahb notp' T 37T § Beautiful petals fragrance 3iIT 'notp dofg
folc' & 31T & Beautiful than happy. 3& $1T9T # 'fragrance'
T 372 FIT BRIT?

Options:

1. = notp
2. v rahb
3. ® bing
4. = Macto

Question Number : 12 Question Id : 54592722838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

OSRHAB
123456

Options:

1.%4,6,3,5,2,1
2.v5,6,4,1, 3, 2
3.#4,06,5,2,3,1
4. %5,2,3,1,6,4

Question Number : 12 Question Id : 54592722838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafaf@a wear &, 31&RT +1 v T foar o= &, e 1,
2,3, 4, 5 3T 6 i fTw 71v §, s &I F AT arel
IR [dhed U 310 & T&AT3T & 39 Aol &l I
iR STel 38 3TaN 3R I TAod FRaT S @ Tk
LU ereg ot

OSRHAB
123456
Options:

1. = 4,6, 3, 5, 2, 1
2.v5,6,4, 1, 3,2
3. = 4,6, 5, 2, 3, 1
4. = 5, 2,3, 1,6, 4

Question Number : 13 Question Id : 54592722839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L, M, N, O and P sit around a circular table facing the centre.
N sits next to L and P. O sits next to M and P. If the positions
of M and P are interchanged, who sits next to L.?

Options:

1.+N,P
2.« N, M
3.« P,O
4. % O, M

Question Number : 13 Question Id : 54592722839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



L, M, N, O 3T P T MR T & IR AT dad & S

Fg AT AT EI N, LIATP & e daar &1 O, M 33T P =T
7T &1 I M 3 P 319a TS 39 H S o &, ar L
& fhcadl # =i doar &7

Options:

1. v N, P
2. = N, M
3. = P, O
4. = O, M

Question Number : 14 Question Id : 54592722840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five girls, Varsha is heavier than Manisha, but not as
heavy as Rashmi. Jyotl is heavier than Diksha but lighter than
Manisha. Who is the heaviest in their group?

Options:

1. = Jyoti

2. v Rashmi
3. = Diksha
4. = Varsha

Question Number : 14 Question Id : 54592722840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i<l ISfehdl H, duI, AT 8 HHT &, olfchel I Sicdair sy
8l &1 S, 8T @ HRY Qfshe AT & goehl Bl 3eTh THG
H ged AN i 57

Options:

1. = ST
2. v J9H




3. = SrET
4. = guT

Question Number : 15 Question Id : 54592722841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each of the five buildings A, B, C, D and E is painted in a
different colour among red, blue, violet, orange and white, not
necessarily in the same order. Building A is not painted in red
and D is not painted in violet or white. Building B is painted
blue and C is painted orange. What is the colour in which
building E is painted?

Options:

1. = Violet

2. » White

3. = Orange

4. v Cannot be determined

Question Number : 15 Question Id : 54592722841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I SARAT # & Ucds A, B, C, D 3T E = &Td, &ilel, a4,
AT 3T e T & ST T 3ol T A =g & = &,
ST T8l Toh Teh & i H & SART A &l oTel 3T H gl
LM =T & 3T D T ST IT Fhe, T H dar 6T T &
fafeser B &Y aitem 3K C @ aIRElT 197 62T a:m §ISART E &
g @1 # T I=T 87

1. = SaTell
2. = g
3. % oA




4. v TaTRa g1 ram a7 Gehar &

Question Number : 16 Question Id : 54592722842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Pihu and Chikku were fighting for the caps, so their teacher
equally divided three red caps, two yellow caps and one blue
cap among them. None of them should be given all the caps of
the same colour. Pihu should be given the blue cap. In how
many ways the caps can be divided?

Options:

1.%5
2.v 2
3.5 3
4, =7

Question Number : 16 Question Id : 54592722842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fag 3R RFg 9 & v o5 W@ 4, sAfev 3a ek o de
STl 2IdT, ar drel &7 Al 2l M Tek slell 2luT sl TATT

O @i TRaml 308 & ToRaTr &F o7 T & 397 & I3 &g

el feu St =fgw| g shr airell v & Sielr wifge) & #

Tordel dliehl & TaHTSIT TohaT ST Tehdl &7

Options:

1. = 5
2. v 2
3. % 3
4, = 7

Question Number : 17 Question Id : 54592722843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Pointing to a girl, Komal said “She is the only daughter of my
grandfather’s only child”. How is the girl related to Komal?

Options:

1. = Daughter

2. = Niece

3. » Sister

4. v Data inadequate

Question Number : 17 Question Id : 54592722843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh olSehl ohl T SANT ld gu FIFT FEAT & T TE W
ETETSN/aTeAToll o Seholld ST ahT Seholldl del &' | T& olgenl
FAST & T TR Farad &7

Options:

1.« T
2. % HATSI/HTSIT
3. » Sgd

4, v BT H9ATCT

Question Number : 18 Question Id : 54592722844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the question below, there are three statements followed by
two conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:

I. Some boxes are dogs.
I1. All dogs are pens.
I1I1. All pens are books.

Conclusions:
I. Some boxes are pens.
II. Some books are dogs.

Options:

1. = only conclusion I follows

2. » only conclusion II follows

3. = either conclusion I or II follows
4. v Both the conclusions follows

Question Number : 18 Question Id : 54592722844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A few are wed A AT FUA R 3T g o TRy G v
g1 3TIRl T&T T F2qall hl T HAT & Hel & d gd AT
Jeat & fiea wdia 21 & Tl fasewt & afer e o=
Fifew o fow oo foshst & @ @l a1 Thaard 59 @ 37eperor
LT &, TR FAAT T2 FS 7 gl

h o]

. FT FFH, Fod &
. |37 e, T B
. TedT o, Forae &1

IGLER T
. g@aa—‘@r, O &l
I g@ﬁ«—crrq‘, g«?cT%“l

Options:

1. = ohdol ToISehY | HAELOT Tl 3

2. % hael Taseny || HATEOT FIAT &
3.« IT A faIsehd | AT || 3HTEIOT FIAT &
4. v QT forsehs Teraor A A §

Question Number : 19 Question Id : 54592722845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing

Statement:
Terrorism in Jammu and Kashmir is increasing.

Course of actions:
. Hand Jammu and Kashmir over to Indian Army.
II. Announce curfew in the state.

Options:

1. = Only I follows

2. = Only II follows

3. = Either I or II follows

4. v Neither I nor II follows

Question Number : 19 Question Id : 54592722845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ued AU FUT & &g g g | 3T 1| &
3TIRT ST FUeT I Tcd ATl FT dF Flell & T o =T T
FRdle # & Hhid AT drfehes §T & Tl &l

h o]
SIFH-FRAR H 3Mdhdre §¢ & &

FRIGTET:
. STF 3T FHeAT FT HRAT Far T T &)
. T=T A FF HT DT

Options:

1. = <hagel | 3HTEOT Tl )
2. » aoel || 3eTEIOT HIAT &

3.« IT AT | AT |l 3HFTEIOT HFIAT &
4. v T Al | 3 Er |l TEIOT FIAT §

Question Number : 20 Question Id : 54592722846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Complete the following series-

51,172, 294,417, ?
Options:

1. = 544
2. v 541
3. = 538
4. = 558

Question Number : 20 Question Id : 54592722846 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ToesTlel =T STl T [T -

51, 172, 294 |, 417, 7?

Options:

1. = 544
2. v 541
3. = 538
4. = 558
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Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 54592722847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

140, 121, 100, 81, 64

Options:

1. v 140
2. % 121
3. = 100
4. = 81

Question Number : 21 Question Id : 54592722847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&T 35 e H T 9§ AT

140, 121, 100, &1, 64

Options:

1. v 140
2. % 121
3. = 100
4. = 81

Question Number : 22 Question Id : 54592722848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. v 638
2. % 426
3. = 852
4. % 750



Question Number : 22 Question Id : 54592722848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu v [adheul A O OYH AT I |

-2

Options:

1. v 638
2. % 426
3. = 852
4. = 750

Question Number : 23 Question Id : 54592722849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
questions :

Options:

1. = 54 : 67
2. % 29:42
3.%36:48
4. v 48 .57

Question Number : 23 Question Id : 54592722849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafeli@d A& @ 93« A favA 37k ST / T 1 glav

Options:

1. = 54 : 67
2. % 29 1 42
3. = 36 : 49
4. v 48 : 57

Question Number : 24 Question Id : 54592722850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the odd numeral pair/group in each of the following
questions :

Options:

1. = 7,14, 28

2. % 5,10, 20
3. = 15, 30,60
4.+ 10, 20, 30

Question Number : 24 Question Id : 54592722850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d A& @ 93« A favA 37k ST / ToHg F glav

Options:
1. = 7, 14, 28
2. = 5, 10, 20

3. = 15, 30, 60
4. v 10, 20 , 30

Question Number : 25 Question Id : 54592722851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

(49, 81, 121)

Options:

1. = (9, 36, 49)
2. v (9, 25, 49)
3. % (49, 25, 9)
4. = (16, 36, 49)

Question Number : 25 Question Id : 54592722851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frrfe@a uea &, U a0 Jeredl A @ Tafaa 3787 / 9% /
HEIT *1 glAT|

(49, 81, 121)

Options:

1. = (9, 36, 49)
2. v (9, 25, 49)
3. = (49, 25, 9)
4. = (16, 36, 49)

Question Number : 26 Question Id : 54592722852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term?

Options:

1.~ 918
2. % 1024
3. 1121
4. = 821

Question Number : 26 Question Id : 54592722852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT T&AT ATT HhIod?

Options:

1. v 918
2. = 1024
3. = 1121
4. = 821

Question Number : 27 Question Id : 54592722853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (-) means (X), (X) means (+), (+) means () and (=) means (-),
then5x18+3 -4 +9=?

Options:

1. % 23
2. % 24
3. = 40
4. v 20

Question Number : 27 Question Id : 54592722853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg () T 3T (%), (X) &7 3T (4), (+) FT 7T (+), (2) F7
31'93'%(—),8’[’5x18+3_4+9=?

Options:

1. = 23
2. = 24
3. = 40



4. v 20

Question Number : 28 Question Id : 54592722854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statement.

Statements:
Y=P.P=F.F=L L=K

Conclusions:
I.F=K

I F=K
Options:

1. = only Conclusion I follows

2. = only Conclusion II follows

3. v either Conclusion I or II follows

4. = neither Conclusion I nor II follows

Question Number : 28 Question Id : 54592722854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A fow aTe wed H, Tk FHUAA F G af vy fow arw & |

MTUhT fCU IT0 FUe hr eI HTeToT &, Hol & I 3TH a W
AT dzar & @y faweor s & 3R R ag w8 o e e
FgT H F FleT AT fAvhy dlfereh T & 30T FIAT §

A
Y=pP. PR EFE. 1=K
ﬁ-’fﬁ;&:

I.LF=K

IILF>K

Options:

1. = ohdol ToIShY |37eTHTOT LT )

2. % haol Tasepy || HTEOT Tl Y

3. v ar a fashy | ar Il 3erevor wYar &
4. » A forshy | 3 & &7 || 37T FT §

Question Number : 29 Question Id : 54592722855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

(25, 45, 55)

Options:

1. v (40, 72, 88)
2. = (40, 72, 86)
3. % (40, 75, 88)
4. = (40, 75, 82)

Question Number : 29 Question Id : 54592722855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

(25, 45, 55)

Options:

1. v (40, 72, 88)
2. = (40, 72, 86)
3. = (40, 75, 88)
4. = (40, 75, 82)

Question Number : 30 Question Id : 54592722856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Administrator, Doctor and Author?

Options:

Question Number : 30 Question Id : 54592722856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafaEa & O sia a1 /Y vggs, S 3T @+ &
oy &1 uafafdcg :ar &2

Options:

.. QO

Question Number : 31 Question Id : 54592722857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following represents Actress who are Singer
but not Producer?

AcCIress

A B { | Producer
DLC | ¢
L

Singer

Options:

1. = B
2. % E
3.vD
4. = F



Question Number : 31 Question Id : 54592722857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffe@aT & @ Sia 3R 1 uafafaa swar & s g

3rfaer=r

A

=
tra || Y oo
l

Options:

1. = B
2. = E
3. v D
4, = F

Question Number : 32 Question Id : 54592722858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures

= .12

1 2
Options:

0
L [

¥ |3




7~
4 v %

Question Number : 32 Question Id : 54592722858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu a0 fashedt & & TEl 3cay geishd HTolT R T R

YT G fed

S 2P

1 2 3 4
Options:

!
>« N
>




L 1

.

Question Number : 33 Question Id : 54592722859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

ol| @ | A | 2

(@ () () ()

1. v W
2. % v
3. % A
4. = A

Question Number : 33 Question Id : 54592722859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fgu v fashedt A & WEl 3oy eIl HZeT R T F|

o]|® | A | ?

(@ (b)) () ()

1. v v
2. % v
3. = A
4., = A

Question Number : 34 Question Id : 54592722860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing figure in the given matrix.

=>|<=| <=

o 2

Options:




3 . L9
15

4 =

Question Number : 34 Question Id : 54592722860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu are Afgad & v 3Rl AT Hifeiv)

=>|<=| <

AR N

Options:




D

Question Number : 35 Question Id : 54592722861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures are insequence or similar to each
other in some way. You have to choose the figure which is
odd /different:

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

| |
<]|©

[—
<]|0

0
Oiv

o>
gl

Question Number : 35 Question Id : 54592722861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe@a ar & & diF 3epia RET o fopdT 9 H AT a7

o

SH H &1 39T g pid Iatall groi i [OwH / Heet g

=

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

%[H

1.
| |©
2. 2V
o>
3. L™
Al
4. |2

Question Number : 36 Question Id : 54592722862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are there in the figure given below?

Options:

1. % 8



2.+ 10
3. % 12
4. %11

Question Number : 36 Question Id : 54592722862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & T SR 7 Freel Frarer 2

Options:

1. = 8
2. v 10
3. % 12
4. % 11

Question Number : 37 Question Id : 54592722863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the four positions given of a single dice, find the
number of dots at the face opposite to the face having 5 dots.

ST 7 o o0 ...*.. r s
solmle:In

1 o H v

Options:

1. % 2
2. % 4
3.v3
4, %6



Question Number : 37 Question Id : 54592722863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U & 9Tk oU av gR fgshedt A &, 5 fdg arel wersk &
faodier werh oT g3t T T&ar AT SISV

. " e ﬁ‘ -*i /: b
# MILE L]
eel® . |®® :« I°
| 1] b1} v

Options:

1. = 2
2. % 4
3. v 3
4, = 6

Question Number : 38 Question Id : 54592722864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

i

Options:




3. v

4 . [RIX

Question Number : 38 Question Id : 54592722864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fau a7 wee A el 3HTd A FIGIT TSHA geat i
Hieafed &I

Y

Options:




Question Number : 39 Question Id : 54592722865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

Question Number : 39 Question Id : 54592722865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SleT 8T 3cad 3Thic Woel 3ThpTd H Yol I T FI?

Options:



S B @

Question Number : 40 Question Id : 54592722866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following choices is the exact mirror image of
the main figure?

Question Figure

Options:

1.~

N




5.« [

D

Question Number : 40 Question Id : 54592722866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & & wia @1 Ghed A&T Jpfa HT Tk guor
oia &7

T AT fed

P

Options:

2 P |2
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Question Number : 41 Question Id : 54592722867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Match the following important terms of Indian Classical
dances and their meanings:

1. Tandava - 1. moods and emotions,

2. Lasya - il. Heroic, bold, vigorous and masculine
classification of dance,

3. Vachika - 1i1. Soft, lyrical, graceful and feminine
classification of dance,

4. Satvika - 1v. Song and speech

Use the code to give the correct answer.

Options:

1. = 1(1ii), 2(1), 3(1v), 4(i1)
2. = 1(1), 2(11), 3(1v), 4(1i1)
3. v 1(11), 2(111), 3(1v), 4(1)
4. = 1(11), 2(111), 3(1), 4(1v)

Question Number : 41 Question Id : 54592722867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATRT TEAT ofcal o feetfel T AgcaqoT esal 3 3T
3720t RT TR Y,

1. dIEa - i, #ar 3R THegE T,

2. O - ii. qENIRC, dRRE, ffftr s sieedt e & o,
3. @t - i, TR, A oRATCH.F T eI sfcd FT adf,
4, 91cq - iv. T UF el

feu 90 e T 3TET F FET 3ccl

Options:



1. = 1(iii), 20), 3(iv), 4(ii)
2.« (), 2(ii), 3(iv), 4iii)
3. v 1Gi), 2ii), 3(v), 4()
4. = 1(i), 26iD), 3(), 4(iv)

Question Number : 42 Question Id : 54592722868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following statements regarding an Indian
festival,

1. It is mainly celebrated in Punjab by the Punjabis,
i1. This festival is also called the harvest festival of Punjab,

Which of the following festivals is being talked about?

Options:

1. = Chhat Puja
2. v Lohri

3. » Ugadi

4. = Bihu

Question Number : 42 Question Id : 54592722868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teoh RO BN & T899 A oreafali@d F2ar W &F9R 9,

. 9% ATT ¥ g IS # TSAeAl SaRT HATIT ST g,
ii. 39 CAIBN I I T B g’ #T Fal T g,

fFael & AERT # & fode a1 # 19 T T &l &7

Options:



Question Number : 43 Question Id : 54592722869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The (1) i1s one of the finest monuments situated in {ii) :

Options:

1. v (1) Gingee Fort (i1) Puducherry
2. » (1) HawaMahal (ii) Chennai

3. » (1) Charminar (i) Kolkata

4. = (1) Purana Qila (ii) Bengaluru

Question Number : 43 Question Id : 54592722869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

n____, () H TeUdT 3cpscdd TANH H F U §

1. . (i) Tosir foram (i) gg=dr
2. % (i) gaT Fgel (ii) deels
3. % (i) IRAR (i) Flelhrd]
4,

% (i) QAT fRarm (i) SeTer®

Question Number : 44 Question Id : 54592722870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Bhatiali is a folk music of

Options:

1. = Gujarat
2. = Maharashtra
3. v West Bengal



4, » Tamil Nadu

Question Number : 44 Question Id : 54592722870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sTfeaTelT T olleh Tl &

Options:

1. = &
2

2. * HBNISC
3. v UT9gH Samel

4, = dmola'llg

Question Number : 45 Question Id : 54592722871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should be done by the RBI to control inflation in the
market?

1. Increase the Repo Rate,
i1. Increase the Reverse Repo Rate,
1il. Increase the Bank Rate

Use the codes to give the correct answer.

Options:

1. = Only 1 and il
2. » Only 1l and 1il
3. Only 1 and 1ii
4.« 1,11 and 1ii

Question Number : 45 Question Id : 54592722871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR 7 Hgdifa & TRifa e & v s Rerd
SehadT AT ThaT SATaT ATIET?

. 30T IT §QIT,
i. ag @l IT §aIv,
iii. 3 T FIT

& HT YA FT FaT 3ca? g

1p.waa—c|?~ri3ﬂ'\rii
2. = shael i 3 i
3. % hael i 3 i
4. v i, i 3R il

Question Number : 46 Question Id : 54592722872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a part of the fiscal policy of the
government?

1. Supervising the banks,
1. Deciding the taxes

Use the codes to give the correct answer.

Options:

1. = Only 1
2.+ Only il
3. Bothiandii



4. = Neither 1 nor ii

Question Number : 46 Question Id : 54592722872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT REd # @ T GIRR AT TSTRINT adAlld T T @Eam
&7

. Sl =T T,

. A dT hIddl

HET 3caT 3 % TOIT P T 3T FHY

Options:

1. = Fad |

2. v FTT i

3. = i 3T i aar

4. = T ari dT T &

Question Number : 47 Question Id : 54592722873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following organizations make recommendations
on the decision of MSP?

Options:

1. = Ministry of Finance

2. = CSO

3. v CACP

4. = Both CSO and Ministry of Finance

Question Number : 47 Question Id : 54592722873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TFeIToIT # & il A7 IS TATHUT & fauiy o faweriver
o 87

Options:

1. = &cd #FIC™

2.« drTE.at. (CSO)

3. v @TELHL (CACP)

4. = WU AR faca F7FET gt

Question Number : 48 Question Id : 54592722874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is/are included in the process of
sanitation?

1. Safe management of human excreta from the toilet,
1. Safe management of solid waste and animal waste

Use the code to give the correct answer.

Options:

1. = Only 1

2. = Only 11
3.vBothiandil

4. » Neither i nor ii

Question Number : 48 Question Id : 54592722874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g & O a1 TTesar 1 uihar & 3uidya &7

. iITel & AT Holdd T FIATT e,
i. BN 319fRIee 3T SIeTadl & 37afrse 1 AT veere

HET 3caT 3t ok ToIT e FT 3T HY

Options:

1. = Fge |

2. % hadl i

3. v | 3T ii gt

4. = o ari AT T & i

Question Number : 49 Question Id : 54592722875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is incorrect with regard to
the reverse osmosis process of purifying water?

Options:

1. = This process can be used for desalination of sea-water

2. = A fllm of cellulose acetate is generally used as the
workable porous membrane in this process

3. v The process of osmosis, if started cannot be reversed.

4. = A variety of polymer membranes can be used as
membranes in this process

Question Number : 49 Question Id : 54592722875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraeol@d & & i T FUeT TTal eNded hT Hideld
TERUTITRAT & g H ITad &7

Options:




1. » 38 URRaAT T 30ANT AT ST & [der@oiierior # fra
ST &

2. » U U IUGFT FIUREHT Feell & ¥ A

AT Ho[ell e CHICE $T Thedenr 3UAMT fhar Srem &

3. v UTdeld WO T Uihar Ife 3NET g S0 ol 3Teh!
feem Y uR@afda a1 forar ST Gehan

4. » 3 UfhdT o oIv i ThR %ragﬂﬁw%%m"rm
3T ThIAT ST TohdT &

Question Number : 50 Question Id : 54592722876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diseases can be transmitted by poor
sanitation?

1. Cholera,
11. Diarrhoea,
1il. Dysentry

Use the code to give the correct answer —

Options:

1. = Only 1 and il
2. » Only 1l and 1il
3. % Only1and 1ii
4. «» 1,11 and 111

Question Number : 50 Question Id : 54592722876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fareT # O iad O AR TTwodr # SIY & HRUT the hdr §7

i- %\_?ITs
Il o,
i, O<rer

T 3ea¥ 3t F T Fe FT 37T R

1p.waa—c|?»ri3ﬂTii
2. = shael i 3 i
3. = Sheel 3T i
4. v i, i 3 il

Question Number : 51 Question Id : 54592722877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are the immediate symptoms of Arsenic poisoning
through drinking water?

Options:

1. = pigmentation changes
2. » skin lesions

3. = hyperkeratosis

4. v diarrhoea

Question Number : 51 Question Id : 54592722877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ulel o UTaT o ATETH & 3Taleh TANTeFddT o dcehlel ol&ToT
T 87

1. » TOraCeTa T Solal




2. = cadr &fd
3. » BB Y
4. v &

Question Number : 52 Question Id : 54592722878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following:

1. Phylum - Ctenophora : 1. Flatwormes,
2. Phylum — Platyhelminthes : ii. Sea walnuts,
3. Phylum — Aschelminthes : iil. Roundworms

Use the code to give the correct answer.

Options:

1. » 1(11), 2(1), 3(1i1)
2. = 1(1), 2(11), 3(1i1)
3. = 1(1i1), 2(1), 3(11)
4. = 1(11), 2(111), 3(1)

Question Number : 52 Question Id : 54592722878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGECIC IR IR

1. §E WK ;i 9 A
2. TE wdigienedTsT @ ii. AT T
3. §9 VEAGelTHAIST : iii. el HiA

T 3ea¥ 3t F T Fe FT 37T R

Options:



1. v 1(i), 20), 3(ii)
2.« 1(), 2(i), 3(ii)
3. = 1), 20), 3(i)
4. = 1(i), 2(iD), 3()

Question Number : 53 Question Id : 54592722879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following relative values of electrical
conductivity (o) or resistivity {(p = 1/0) of a few solids,

Lp~10-2-10-8Qm:0~ 102 -108 S m-1,
ILp~10-5-106 QA m:g~105-10-6 S m-1,
L. p~1011-1019Qm: o~ 10-11 - 10-19 S m-1

Which of the above can be a metal, a semiconductor and an
insulator?

Options:

1. = 1. Semiconductor; ii. Metal; iil. Insulator
2. » 1. Metal; il. Insulator; iil. Semiconductor
3. v 1. Metal; ii. Semiconductor; iil. Insulator
4. = 1. Insulator; ii. Semiconductor; iii. Metal

Question Number : 53 Question Id : 54592722879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



@WW?WW(U}MW(p=
/o) & I4e A W dar &+ -,

Lp 102 -10-8 QO m:oc ™ 102 - 108 S m-1,

n.p ~10-5-106 O m:oc ™ 105 - 10-6 S m-1,

. p ~ 1011 -1019 Q m : o & 10-11 - 10-19 S m-1

3HFT # & el AT Uk T, Uk 3He=ITelh 3T UF Fogeled
gl Hehell &7

1p. % i, 3TerITele; ii. T iii. ToegeRre
2. % i orq; ii. faegaard; iii. rdwmers
3. v i. urq; . AT, il ﬁﬂ?—lﬁ%ﬁ
4. » ifaegeRrdy; ii. srdETerh; i, T

Question Number : 54 Question Id : 54592722880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are sources of carbohydrates?

1. Fishes
ii. Rice
1il. Wheat

Use the code to give the correct answer.

Options:

1. = Onlyiand il
2. v Only 1l and 1i1



3. % Only 1 and 1i1
4. = 1,11 and iii

Question Number : 54 Question Id : 54592722880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Question Number : 55 Question Id : 54592722881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following trophic levels posesses the maximum
amount of energy?

Options:

1. v Producers

2. * Primary Consumers
3. » Secondary Consumers
4. = Tertiary Consumers

Question Number : 55 Question Id : 54592722881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # O i Ir 9INT TAT FoiT bl ATURIH AT IT-AT &7

Options:

1. v 3cUlceh

2. = YTATHS STHTFT
3. = fegd 3usilerar
4. = A ITHIFAT

Question Number : 56 Question Id : 54592722882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the primary tributaries of rivers flow parallel to each
other and secondary tributaries join them at right angles,
what is the pattern called?

Options:

1. = Centripetal
2. v Trellis




3. = Radial
4, = Dendritic

Question Number : 56 Question Id : 54592722882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS T oAfeAl Teh-gil & FHI Sl & AT T aAfeal

38 FHAPIOT 9T THedr af, df 0F Ufa®T &l T Fal SAdm g7

Options:
1. % ShalfHIMAT 3Tag Uiasd

2. v SITellefAT 3YdTE TiA®T

3. = gregdr (fsye) 3yaE ufasy
4. = FETRR TATE IITHT

Question Number : 57 Question Id : 54592722883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following places is famous for Karewa
formations, that are useful for the cultivation of Zafran?

Options:

1. ¥ Kashmir Himalayas

2. » South Asian Glaciers

3. = Darjeeling and Sikkim Himalayas
4. = Eastern hills and mountains

Question Number : 57 Question Id : 54592722883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@a & O siaar T Kar & fow gyfag &, J1ar
SITRITel hT TAT hl SATaT 57

Options:

1. v FAX @A
2. = ZIGUT TS TeIfeRR




3. = grfeifelsr 3T RAfFwA fEATeT
4. = qdl 9gifsar 3R uad

Question Number : 58 Question Id : 54592722884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chemically, the (i) are rich in lime, iron, magnesia and
alumina. They also contain (ii) . But they lack in
phosphorous, nitrogen and organic matter.

Options:

1. = (1) alluvial soil (ii) potash
2. = (1) black soil (ii) sulphur
3. v (1) black soil (1i) potash

4. = (1) alluvial soil (ii) sulphur

Question Number : 58 Question Id : 54592722884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR g7t @ () H Tal, dilg, Heanfrr qer
VSTAAT ok decd AR AGT A 90 ST &1 S A (i) T
AT #T 9T STaT &1 dfehed S8 WIERIE, dAsclield T 39
ueret T AT BT &

1. = (i) STellg Har (i) wrerer
2.« (i) e FAT (i) TEH
3. v (i) el HaT (i) qreTer
4. = (i) STelle HaT (ii) TUh

Question Number : 59 Question Id : 54592722885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Consider the following statements about a crop:

1. It is grown in Kharif season in semi-arid areas of the
country,

i1. India ranks second in the world in the production of this
crop after China, 1il. India lost a large proportion of this crop’s
growing area to Pakistan during partition.

Which crop is being talked about?

Options:

1. = Wheat

2. v Cotton

3. = Sugarcane
4. = Rice

Question Number : 59 Question Id : 54592722885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uh FHA & ¥ & areafai@a saar o e &3 -

. IE TR 30T KT wHel § S T F AI-YSF A9 A

F{w Fd A S ST |

i. ¥ FT 5H BEA & 3cdea H fded # =T & 7o ga
T § |

ii. ST T 8 ®He FT Tga FST 3cUlgal &7 g2 faasia &
AT YTfehedlel & el T |

ThE Eel T ST &1 TGl 67

Options:

1. = 3g

2. v hIH




3. % Iadl
4, = =ae

Question Number : 60 Question Id : 54592722886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the following statements carefully:

1. The decades 1951-1981 are referred to as the period of
population explosion in India, which was caused by a rapid
fall in the mortality rate but a high fertility rate of population
in the country.,

2. The average annual growth rate was as high as 5.3 per cent,,
3. Increased international migration bringing in Tibetans,
Bangladeshis, Nepalies and even people from Pakistan
contributed to the high growth rate.

Which of the statement/s is/are true?

Options:

1. v Statement 1 and 3 only
2. = Statement 1 and 2 only
3. » Statement 2 and 3 only
4. = Statement 2 only

Question Number : 60 Question Id : 54592722886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&g et S ST T Ie:

1. 1951-81 &2l I AT H JTAGEAT FEIHIC hl AT &
& H ST ST & A6 A T hA Acg T AT Seraear hr
3T Yolalel L oh LT g3,

2. 3Eg aive [ T &7 I &7 5.3 Wiaed o7,

3. Tasafaar, Sy, Surforay T 227 H olel drel dad
FRTSET varw AR TgT gk o5 arferedrer @ 37a arel oen o
AT 3T g X H Awrere T2

hlsT TI/RlTd FUT T g7

Options:

1. v shad e 1 3T 3
» chael ®del 1 3T 2

3. = had e 2 3R 3
% Shaol e 2

General Awareness?

Group Number : 4
Group Id: 5459271134
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awareness2

Section Id : 5459271134

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271360
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592722887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India with its area of (1)___ million sq. km accounts for (ii)___
percent of the world’s land surface area.

Options:

1.+ (1) 3.28(11) 2.4
2. % (1) 5.28 (1) 24
3. (1) 3.28 (1) 5.2
4. = (1) 1.28 (1)) 34

Question Number : 61 Question Id : 54592722887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T 9% (i) o ga7 ThallAL & oI 19T & Tl g
T T (i) WTaIerd T §l

Options:

1. v (i) 3.28 (i) 2.4
2.« (i) 5.28 (ii) 2.4
3. = (i) 3.28 (ii) 5.2
4. = (i) 1.28 (ii) 3.4

Question Number : 62 Question Id : 54592722888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the following verse carefully and identify its source
from the options given below:

“Bring thou, O strong one, this sacrifice of ours to the Gods, O
wise one, as a liberal giver. Bestow on us, O priest, abundant
food. Agni, obtain, by sacrificing, mighty wealth for us.”

Options:

1. = The Upanishadas

2. v The Rigvedas

3. » The Tripitaka

4. = The UttaradhyayanaSutta

Question Number : 62 Question Id : 54592722888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafoad oe waeYEs ¢ va fav a0 fawedl # & g@

GId T YgUTeT

“@ eITFaelTell &d, 3T BHANT 311@’% agar3t dk of SV @
gi&Ad, 3T a1 Fah ardT g1 § qad, &8 T& IR Ty
gerdl 2| 379, §AN ToIT efardemell & T IET Flah T |
7]

Options:

1. = 3ufaug
2. v ®Idg
3. = Hes

4, = S TEA Y AT

Question Number : 63 Question Id : 54592722889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the following statements carefully :

1. Al-Biruni’sKitab-ul-Hind is written in Arabic and is divided
into 50 chapters on various subjects,

2. Generally (though not always), Al-Biruni adopted a
distinctive structure in each chapter, beginning with a
question, which is followed with a description.

Which of the above statement/s is/are correct ?

Options:

1. = Statement 1 only
2. v Statement 2 only
3. = Statement 1 and 2
4. » Nelther 1 nor 2

Question Number : 63 Question Id : 54592722889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3T FUal T Aeqad e

1. 3TET H TEr 915 3fel-Ta%all 7 Fid fhde-3-fgeg e

fawat & 3w W 50 3reat # fawriad g,

2. OTHATAT: (BTellleh BHRIT sTal) 3ol-[9&al of e 37eq T H
Toh [aferse et 1 wler fohaT TSEd 3 & U wed giar o
UT 3T YATT JUIAT &1 SATar 2T

3T FUAT H T Il T Tar &7

Options:

1. % Shaol hefel 1



2. v hdd FUT 2
3. %« HAAT 1 3T Faad 2
4. = o7 ar sua 1 AT a1 & FUeT 2

Question Number : 64 Question Id : 54592722890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the following statements below:

1. Abu’lHasan al Hujwirl wrote a book in Persian called the
Kashf- ul-Mahjub (Unveiling of the Veiled) to explain the
meaning of tasawwuf, and those who practised it, that is, the
sufi.

2. By the eleventh century Sufism evolved into a well-
developed movement with a body of literature on Quranic
studies and sufi practices.

3. Sufi silsilas began to crystallise in different parts of the
Islamic world around the twelfth century.

Which of the statement/s is/are true ?

Options:

1. = Statement 1 only

2. = Statement 2 and 3 only
3. » Statement 1 and 3 only
4, v Statement 1, 2 and 3

Question Number : 64 Question Id : 54592722890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



[AFITATET 2l T SATw e

1. 3qel HeT 37c g\_rlﬁ'ﬁ o BRET 7 T rde e ‘Sew-3d-
Aol (TS arel T el SEH T8egh F A 3T S8
qTelel Shdel dTel AT o SR H SI=IT =T 2T

2. TNl AdTed] deh 3MTA-31Td Fhrare Uk o7 faerfad
3feTolel o7 TSIEeRT BT 3 Hllel & S[ET U= Hliged T

3. SNEdl cATeel & U SEellAT giotar # I fAoeridel
NS glal oaT|

farafelfEa & & Siaar ®u« T 87

Options:

1. % Shael hUe 1

2. % hael ®Ye 2 AT 3
3. = had e 1 3R 3
4. v FeeT 1, 2 37 3

Question Number : 65 Question Id : 54592722891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the following statements:

1. The amara-nayaka system was a major political innovation
of the Vijayanagara Empire.

2. The amara-nayakas were farmers who were given
territories to govern by the raya.

3. The amara-nayakas sent tribute to the King annually and
personally appeared in the royal court with gifts to express
their loyalty.

Which of the above statement/s is/are true ?

Options:

1. = Statement 1 and 2 only
2. = Statement 2 and 3 only
3. v Statement 1 and 3 only
4. = Statement 1 only

Question Number : 65 Question Id : 54592722891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



[AFITATET 2l T SATw e

[

1. 3AT-ATIHR YoMl [asTFeIR ATHTST I Teh THE ISTailicioh
@rer T

2. FAL-aeh TohdTel & TSleg I @RI Welide o el ITed-
&ar e SIra o

3. AL-ATTSH TS &l d¥ H Teh d He Hal wid o 3T
MUAT EEIHATFT Uhe Fla o ToIT IToleh Sd H 3YERT &
grel ¥ 3UTed g3 T o

frafelfEa & & Slaar su«a g 87

Options:

1. » shad FTT 1 3T 2
2. % had sd 2 3T 3
3. v hadl U 1 3T 3
4. = hdel e 1

Question Number : 66 Question Id : 54592722892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Match the following historical events with their
corresponding years of occurrence:

1. Subsidiary Alliance introduced by Wellesley in Awadh : 1.
1856,

2. NawabWajid Ali Shah deposed; Awadh annexed : i1. 1801,
3. Sepoy Mutiny starts : 1ii. 1857,

Use the code to give the correct answer.

Options:

1. v 1(1), 2(ii), 3(1ii)
2. % 1(11), 2(1), 3(1i1)
3. = 1(1i1), 2(11), 3(1)
4. = 1(11), 2(111), 3(1)

Question Number : 66 Question Id : 54592722892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forratfoiaa CfagTiass aearsitt T 3T gcaT & Tl & are

 — ot
[Hellad ehd

1. 3/@Y H dolelell GaRT HE—Ah AT o] T a5 @ 0. 1856,
2. TGTS gTiolc 3ol eNg Rl %l & &S1AT 1T, 3Gl Rl
AMTEoT ;i 1801,

3. fauTeT fagle smwer garm : i, 1857,

e T T T HET a3

Options:

1. v 1), 2(i), 3(ii)



2.« 1(ii), 2(), 3(iii)
3. = 1(iii), 20, 3()
4. = 1(ii), 2(iD, 3()

Question Number : 67 Question Id : 54592722893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was elected by the mutinous 22nd Native Infantry as
their leader during the Revolt of 18577

Options:

1. » Mangal Panday

2. v Maulvi Ahmadullah Shah
3. = Shah Mal

4. » Nana Saheb Peshwa

Question Number : 67 Question Id : 54592722893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1857 & TO2ig & gRIa 2247 Afea souwer (22 Yo | &
faeifea o fort 3rva A == form 9r?

Options:
1. = HITST IS
2. v Hier@r IEAGEeE Mg

3. % QAE Hel
4. = FATT T deEr

Question Number : 68 Question Id : 54592722894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Governor of (1) is (i)

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:



1. (1) Andhra Pradesh and Telangana (ii) Ekkadu Srinivasan
Lakshmi Narasimhan

2. (1) Madhya Pradesh and Chhattisgarh (i1) Jagdish Mukhi
3. (1) Assam and Mizoram (i) Kaptan Singh Solanki
4. (1) Odisha and West Bengal (i) Tathagata Roy

Question Number : 68 Question Id : 54592722894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

() o Tsgurer (i) &

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. (i) 3 g&er 3T Ae@ET (i) TRy Afearaer oeAr
o{ [Hégdl

2. (i) ALY WELT 3R Sedraele (i) SEERT JET

3. (i) 398 3 TASIRA (i) Fearer g drelenn

4. (i) 3Nf3em 3 gieawm F9mer (i) TP T

Question Number : 69 Question Id : 54592722895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Admiral Karambir Singh assumed command of the Indian
Navy on (1) as the (1i) Chief of the Naval Staff.

Options:

1. = (1) 15th January 2016, (11) 21st
2. v (1) 31st may 2019, (ii) 24th

3. = (1) 3rd October 2017, (11) 13th
4. = (1) 19th August 2018, (ii) 20th

Question Number : 69 Question Id : 54592722895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TsfATe WHAR g o (i) R, AT TEIF (i)
® UHE & T H ARAT AGeAT HT FHTT THTel|

Options:

1. = (i) 15 STefadT 2016, (i) 21 &F
2. v (i) 31 & 2019, (i) 24 at

3. = (i) 3 3feaT 2017, (ii) 13 a
4. = (i) 19 30TEd 2018, (i) 20 &

Question Number : 70 Question Id : 54592722896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the year 2019, the President of India had approved
conferment of 112 Padma Awards comprising of (i)
____Padma Vibhushan, {i1) _ Padma Bhushan and (iii)
____Padma Shri Awards.

Options:

1. = (1) 4 (11) 8 (1i1) 100
2. v (1) 4(11) 14 (1i1) 94
3. = (1) 10 (11) 2 (111) 100
4. = (1) 15 (11) 9 (111) 88

Question Number : 70 Question Id : 54592722896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 2019 #, HRA & oAl of 112 957 WERR Velel Flal Fl

Aodr &1 o, formd (i) s Toegor, (i) TS T
3T (i) gl Qe MMiAe o

1. = (i) 4 (i) 8 (i) 100
2. v (i) 4 (i) 14 (i) 94
3. = (i) 10 (i) 2 (i) 100



4. = (i) 15 (i) 9 (iii) 88

Question Number : 71 Question Id : 54592722897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was a great dramatist, who is well known for his play
Uttara-Ramacharitam (the later life of Rama).

Options:

1. v Bhavabhutl
2. » Surdasa
3. = Kalidasa
4. = Jayadeva

Question Number : 71 Question Id : 54592722897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uh HETel allceherl &, ST 3Ya alceh
ScAHAART (TH & Sdel & 3caliE) & folw CRS) foeara & |

Options:

1. v sg¥ia

2.
3. % FRITeET
4.

Question Number : 72 Question Id : 54592722898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAIR is an upcoming international accelerator facility at
Darmstadt, Germany of which India is a Founder-Member
country. Which Indian institution is the nodal institution at
the national level for implementation of this project?

Options:

1. = IIT Kharagpur
2. = IIT Bombay



3. » Saha Institute of Nuclear Physics, Kolkata
4. v Bose Institute, Kolkata

Question Number : 72 Question Id : 54592722898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STHT o STHECIS A FUd UHR.U.AE.3N. (FIX) Uk HETAT
HAWTSE caleh Giaen &, SHA 9N U T8 Teg o3 §
| =9 IRNAISTAT & FATeadel & OT TS T T Hid @l
HIART EAT Aol AT &7

Options:

1. = 3TF3MET TSR
2. % 33Tl diF s

3. = WIET $EEICIC 3% wgiForay ThisTerd, Slefehld

4. v S TEICYL, Hicenld]

Question Number : 73 Question Id : 54592722899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first image of a Black Hole was taken in (1)__ with the
help of (i1)____ observatories?

Options:

1. = (1) 2018 (11) 8
2. = (1) 2019 (i) 10
3. v (1) 2019 (i) 8
4. = (1) 2018 (ii) 10

Question Number : 73 Question Id : 54592722899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sofeh BIol T Ugell &g @y () F (i) Fegememadt
(37Tsotay) Al Heg & ol 15 4T |

Options:




1. = (i) 2018 (ii) 8
2. = (i) 2019 (i) 10
3. v (i) 2019 (ii) 8
4. = (i) 2018 (i) 10

Question Number : 74 Question Id : 54592722900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following features of the Indian Constitution and
the source from which they have been borrowed:

1. Fundamental Rights : 1. Irish Constitution,

2. Principle of Cabinet Government : 1i. British Constitution,
3. Directive Principles of State Policy : 1il. American
Constitution,

Use the codes to give the correct answer.

Options:

1. = 1(1), 2(11), 3(1i1)
2. = 1(1i1), 2(11i), 3(1)
3. v 1(1i1), 2(11), 3(1)
4. = 1(1i1), 2(1), 3(i1)

Question Number : 74 Question Id : 54592722900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HIAT AT & TAeToiEdd @eyar3it 3T 3 Oia J&r
gag fow I &, 7 TR

1. Hiferer MR ;i FTRe gy,
2. E @3 & [OEd : ii. §feer gy,
3. T & dAlfd-Tacereh T : iii. 3ANGRT afgyr,

e T T HT HET a3

Options:

1. = 1(0), 2i), 3(iii)
2.« 1), 2(ii), 3()
3. v 1), 26i), 3()
4. = 1(iii), 2(), 3(i)

Question Number : 75 Question Id : 54592722901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Constitutional Amendment Act has inserted the Right
to Education provision in the Indian Constitution?

Options:

1. = 42nd
2. = 44th
3. » 76th
4. v 86th

Question Number : 75 Question Id : 54592722901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fRI&TT ST 37TIRT T =TTEAT FT Hi-A FIATTolsh Feere
HTATAIH Za@RT HARAT FiddTel H SIS Ir=r 917?

Options:




s 42-3
x 44-3
x 76-g
v 86-d

ol

Question Number : 76 Question Id : 54592722902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the Constituent Assembly, Jawaharlal Nehru was the
Chairman of

Options:

1. = Union Power Committee and Steering Committee

2. v Union Constitution Committee and Union Power
Committee

3. = Drafting Committee and Union Power Committee

4. = Provincial Constitution Committee and Rules of
Procedure Committee

Question Number : 76 Question Id : 54592722902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiagTeT THT A STaTEdollol dIg® & 3yegey o

Options:

1. = g9 erfed FiATT 3 g=moer @fAfa

2. v | Hi9ulel AiATT 3R @ ofda afffa

3. » Urdy HiATT 3 g erferd GATT

4. = I Figurel GfAfta 3T gishar s afafa

Question Number : 77 Question Id : 54592722903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following statements about the National Food
Security Act is incorrect?

Options:




1. = It is also called the Right to Food Act
2. v The Act was enacted in the year 2015

3. # It provided that the eldest woman of the household of age
18 years or above will be the head of the household for the
purpose of issuing of ration cards

4. = The Act covered the entire territory of India

Question Number : 77 Question Id : 54592722903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS Teg et fafaasd geged forafafad Fu=t 7 |

HITT FHU TTold &7

Options:

1. = 20 TATATGH I GET FT HTIFN ATATATH 8T har
ST §
2. v Ig AMAfeadA a¥ 2015 # o] foham aram 21

3. = TAOFgA & g wgyre Far T & 18 av ar 398
31T 3R] h1 oo AT T TS SINT F F 38T § oW
s AT el

4. = ITATTIH FFPOT AR T o] AT

Question Number : 78 Question Id : 54592722904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following Indian cities is the world’s largest
Cricket stadium being constructed?

Options:

1. = Indore

2. = Gwalior
3. = Surat
4. v Ahmedabad



Question Number : 78 Question Id : 54592722904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@aT # @ g ARG 8T # [9eg &1 ga8 3T fohehe
LBIH §aR—T ST I@ET &7

Options:

1. = 3ER
2. % TATeRIY
3. = §Id

4, v IgHCIEG

Question Number : 79 Question Id : 54592722905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following sportsmen/sportswomen with their
respective sports:

1. Julia Gorges - 1. Golf,
2. Brook Koepka - ii. Football,
3. Eden Hazard - iii. Tennis,

Use the code to give the correct answer.

Options:

1. » 1(111), 2(1), 3(i1)
2. = 1(1), 2(11), 3(1i1)
3. = 1(11), 2(1i1), 3(1)
4. = 1(11), 2(1), 3(1i1)

Question Number : 79 Question Id : 54592722905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T et = 39 gafag I« 8 Fea =

1. S[feHT Meid - i. e,
Y . Wt

HE 3ca¥ ol & oI e T 39T FH

1p. v 1), 2(), 3(i)
2.« 1(), 2(i), 3(ii)
3.« 1), 2(ii), 3()
4. = 1(i), 2(), 3(ii)

Question Number : 80 Question Id : 54592722906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The ‘Offside Trap’ terminology is used in :

Options:

1. = lawn

2. » Table Tennis
3. = Badminton
4. v Foothall

Question Number : 80 Question Id : 54592722906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTRATSS &0 erserdell T Ul 7 forar STaT B

Options:

1. % ol ofag
2. = el g




4. v hcdldl
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Arithmetic Ability1
Group Number : 5
Group Id: 5459271135
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
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Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271135
Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271361
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592722907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question
mark (?) in the following question?
(303 =g =7

Options:

1. % 2



2. % 0
3.v1
4. =3

Question Number : 81 Question Id : 54592722907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder - TAFaITollAd Ueed H Uedars eg (?) & TATT T 4T
AT ATRT?

GRS =T
Options:

1, % 2

2 % 0

3. v 1

4, » 3

Question Number : 82 Question Id : 54592722908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

27 x 5P -(115P2=7x8
Options:

1. = 125
2. = 500
3. v 625
4. % 1250

Question Number : 82 Question Id : 54592722908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

27 x 5P -(1152=2x8

Options:

1. = 125
2. = 500
3. v 625
4. = 1250

Question Number : 83 Question Id : 54592722909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS : What should come in place of the question
mark (?) in the following question?

R e S LT LR
4 13 13 [+

Options:
12
1 % 13

15

15

3&?52

17

Question Number : 83 Question Id : 54592722909 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fadern: frafe@a e & uesares Reg (?) & TATT 9T 41
AT ATRT?

il =3 —n
4 13 13

&

Options:

E
1. = 13

EE
7w 17

EE
3 i 52

E
4. = 19

Question Number : 84 Question Id : 54592722910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the largest of the following fractions?

27 34 34 28 17

10°13'15°13° 11
Options:
27

1\&?10

17



34

28

Question Number : 84 Question Id : 54592722910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @&d # 8 a8 F37 Hed ATd o ?

27 34 34 28 17

10°13°15° 13" 11

Options:
27

"| w10
17

2. % 11
34

28

Question Number : 85 Question Id : 54592722911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

40% of [{(16 - 8+ 18- 12)x5-6} x2+3 =7



Options:

1. = 253/5
2. % 271/5
3. % 267/5
4, v 262/5

Question Number : 85 Question Id : 54592722911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el T Ueal H Usiaresr g (?) o T 9T FIT 3T
TAMET?

40% of [{(16 - 8+ 18- 12)x5-6} x2+3]=7

Options:

1. = 253/5
2. % 27175
3. = 26715
4. v 262/5

Question Number : 86 Question Id : 54592722912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

[6.03 x9-(207 - (303 + 129 - 198)}] = ?

Options:

1. % 75
2. v 81
3.% 84



4. % 72

Question Number : 86 Question Id : 54592722912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e # wReaaes eg (?) & TUTH 9T FAT 3T

Sl

[6.03 x 9 - (207 - (303 + 129 - 198)}] =7

Options:

1. = 75
2. v 81
3. = 84
4. = ]2

Question Number : 87 Question Id : 54592722913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The LCM and HCF of two numbers are 264 and 2 respectively.
If one of them is 22, the other is:

Options:

1. = 16
2. % 18
3.5 12
4. v 24

Question Number : 87 Question Id : 54592722913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

& HEA3T FT THeaH FATIGTH AT AgedA FHATIANF HA:
264 3T 2 §1 AT 397 & v 22 &, A gE0 &

Options:

1. = 16




2. % 18
3. = 12
4. v 24

Question Number : 88 Question Id : 54592722914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfLCM (X, y, 2) = (X){y)}2), HCF (y, 2) = ?

Options:

1.+1
2. % 2
3.5 X
4. % yZ

Question Number : 88 Question Id : 54592722914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At (x, y, z) FT TeddA FATEAF = (X)(y)(z), ¥ (y, 2) F

Agcdd THAIGAS &

Options:

1. ¢ 1
% 2

2.
3. ® X
4, % yz

Question Number : 89 Question Id : 54592722915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 11?

Options:

1.« 1111111



2. % TTTTT
3. v 246642
4. % 7654321

Question Number : 89 Question Id : 54592722915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelaa & & i &5 9&aT 11 8 90T 87

Options:

1. = 1111111
2. % 77777

3. v 246642
4. = 7654321

Question Number : 90 Question Id : 54592722916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The six-digit number 25687X is divisible by 9 where X is a
single digit whole number. Find X.

Options:

1.0
2. %7
3.%9
4. v 8

Question Number : 90 Question Id : 54592722916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 3ThT HEAT 25687X, 9 & faeT § S8 X ek 37ehry qoT
TEAT &1 X T ATl ATT hIToT|

Options:

1. = 0
2. % 7




3. % 9
4. v 8

Question Number : 91 Question Id : 54592722917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kush’s bowling average (runs conceded per wicket) decreased
by 0.6 runs/wicket when he took five wickets and conceded 41
runs, in a match. If his initial average was 22 runs/wicket,
how many runs did he concede before his match?

Options:

1. = 3300
2. v 2420
3. = 3630
4 % 2222

Question Number : 91 Question Id : 54592722917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T I Feerell FT 3T (I fahe & feae & @) & 0.6 I
lﬁﬂ«—d‘cﬁraﬂiﬁgé TS 3da 3Tel HT & Ui [The ow 3
41 T feu | g HehT roamer 3ad 22 T / fadkhe o, o
39e 39 T & Ugel Tohddl Ta oW ?

Options:

1. = 3300
2. v 2420
3. = 3630
4. = 2222

Question Number : 92 Question Id : 54592722918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The number of students andthe average score of section-A of a class are respectively equalto the average score andthe
mumber of students of section-B ofthe class. Ifthe number of students of section-A and section-B aren the ratio 2:1

and the combined average score of the two sections is 41- | which of the following is the average score of section-A7

Options:

1. = 29
2. % 35
3.+31
4 % 26

Question Number : 92 Question Id : 54592722918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF FETF -4 F T H HE A IWF F A FH: FEF 98 H I F wa HY sF e EenE
aat &) o aeta 3T aete ﬁmﬁﬁWa:ﬁ:a@mﬁ%ﬁaﬁﬁﬁmWaﬁ#m%ui &ar
FeATeTag A0 9 grada & HEg =R R

Options:

1. = 29
2. = 35
3. v 31
4. = 26

Question Number : 93 Question Id : 54592722919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper marked the price of an product 32.5 percent
above the cost price. He allowed two successive discounts of
20 percent and 15 percent on the marked price, therefore he
incurred a loss of Rs. 2178. What would be the selling price of
the product if he allowed only 12 percent discount?

Options:

1. = Rs. 24522
2. » Rs. 30420
3. v Rs. 25652
4. % Rs. 22635



Question Number : 93 Question Id : 54592722919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk EehTelel o 3cdTe, T AT o e & 32.5 afaerd
i Rfeed #1130« Rifeed Ao o 20 widerd 31T 15
vfciereT sl el shfAsh g &1, TAfT 39 2178 SUF FT FJhdT

g3 Ifg g8 shael 12 vlderd T ©e &ar & ar 3cure 1 {9
Hed T glI?

Options:

1. = 24522 39
2. % 30420 T
3. v 25652 Tud
4., = 22635 T

Question Number : 94 Question Id : 54592722920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i P e : il : . =
In a month, Mavank spends 13 = %o of his income on electricity bill, 155 % of income on clothing, 18 = %

a Ao g .
of income on house rent, 115 % on food and rest save. If the house rent was Rs 4400. What was his saving

in that month?

Options:

1. v Rs. 10000
2. % Rs. 12000
3. = Rs. 9500

4. = Rs. 14500

Question Number : 94 Question Id : 54592722920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FE H, TR I T T 13 £ % ATl e o) @ avar &, Fust o 152 %, W E AR W
18 § 0%, STl X 113 % 31X 9 FId FAT &1 T TSI FT HTAT 4400 AT| 3T FENT T 3T g9
=T 9r?

Options:

1. v 10000 ®9&



2. = 12000 ¥
3. = 9500 ¥9
4. = 14500 ¥

Question Number : 95 Question Id : 54592722921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of stock A in 2018 isincreased by 12 percent and the
price of stock B is increased by 18 percent as compared to the
price of both in 2016. If the difference between the prices of
stock A and stock B in 2016 was Rs. 270 and the prices of both
the stocks in 2018 are equal, then find the sum of the prices of
both the stocks in 2016.

Options:

1. = Rs. 935
2. % Rs. 1215
3. v Rs. 1035
4. = Rs. 840

Question Number : 95 Question Id : 54592722921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2016 1 TJerell #, 2018 # ik A HT RAT H 12 gicrerd
31 &5 & 3T T B &1 hrAa # 18 wicerd &1l Ifg 2016 &
Taish A 3T Taih B T hACAI & &I 3L 270 39T 2T 3T
2018 # Sl AT T ShIFAG se g, af 2016 & arar ey
ST hIFAT hT T AT AT?

Options:

1. = 955 U
2. % 1215 39
3. v 1035 33




4. = 840 T4

Question Number : 96 Question Id : 54592722922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A person had some goats with hirn in 2003, He sold 3 3% % of goats. In 2006, the munber of goats increased by 40%, then
he soldagain 33% % of goats. In 2007, the menber of goats nereased by 30%, thenhe soldagamn 33% % of goats. In 2008
the mamber of goats ncreased by Eﬁ% %. If the mumber of goats in 2008 was 56. What was the mmnber of goats in 2003,

mitially?
Options:

1. v 54
2. % 60
3. % 48
4. % 64

Question Number : 96 Question Id : 54592722922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2005 3 T ST & T T FIAT | IHA33 % THRATIT| 2006 7, TRRDT T HEATH 40% T IS S, TR
SH 332 Y% THTAT Y TR H A 7] 2007 3, THRAT T FEA F 30% 1 I g5, R 0 33 % THRAT F
¥ 3o ) 2008 F TRl H HEAT66- % TN ATE 2008 F TRt HET 56 4| 2005 F THRDT T FEmT AT H

T 417

Options:

1. v 54
2. = 60
3. = 48
4. = 64

Question Number : 97 Question Id : 54592722923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An overall profit of 25.5 percent is to be made from the sale of
two products. One of them was sold at a loss of 8.5 percent. At
what profit percentage should the second product be sold,
given that the cost prices of the first and the second products
are in the ratio 3:5?

Options:



1. = 47.2 percent
2. % 33.6 percent
3. % 51.4 percent
4. v 45.9 percent

Question Number : 97 Question Id : 54592722923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25.5 9fcRId T el @TeT al Icdmer 1 fashr & fohar e g
3oH € Ueh T 8.5 Wlcierd =T @lfel IT ST a7 4TI @Y 3cUlS
1 fre wmer gfrerd 9T ST ST Aifgv, 3R 9Ee 3N gy
3cUTel T e AT 3: 5 & HurT A g7

Options:

1. = 47.2 wfaera
2. % 53.6 ufderd
3. * 51.4 ufderd
4. v 45.9 yfcerd

Question Number : 98 Question Id : 54592722924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A dishonest shopkeeper takes 12.5 percent more quantity
than the indicated weight when he purchased from a dealer.
He gives 10 percent less quantity than the indicated weight to
his customer. If shopkeeper sells the items at cost price, then
find his profit percent.

Options:

1. = 22 percent
2. % 20 percent
3. v 25 percent
4. = 28 percent



Question Number : 98 Question Id : 54592722924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk SSATA GRlAcR, ol d ZHIS Sl 9T Hehfdd deiel &
12.5 vfderd 3179 AT & ofdr &1 98 39a AT@Hh I Gehidd
gotel T Jelell H 10 UTARIT A AET &l &1 Al FehTelar
AT Hed W TGV ST §, AT 3HRT meT G AT F

Options:

1. = 22 gfaerd
2. = 20 gfcrerd
3. v 25 yfaera
4, = 28 yfderd

Question Number : 99 Question Id : 54592722925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper bought 25 laptops at Rs. 16500 each. He spent a
total of Rs. 4800 on transportation. He fixed the marked price
of each laptop at 40 percent above the original cost price and
offered a discount 22 percent on the marked price. What is
the total profit earned by shopkeeper?

Options:

1. v Rs. 33150
2. % Rs. 32450
3. = Rs. 28900
4. = Rs. 29550

Question Number : 99 Question Id : 54592722925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U GG o 25 d9eiT 16500 F9 ufar duerd & =)
38 UNdge T el 4800 08 T [hU| 39d Ucdesh olueid
T AT T JoI d0Ed JqoF ° 40 vfaerd 3R "igad fear
AT REAT e W 22 ufderd T G 9qHT FT| FHEER
ZaNT 3Aford ol oIy &7

Options:

1. v 33150 39
2. % 32450 TUA
3. = 28900 TW
4. % 29550 TUA

Question Number : 100 Question Id : 54592722926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Alish and Alex have some money with them. If Alish has Rs. 4
more and Alex has Rs. 15 less, the ratio of respective amount
with them will be 3 : 5. If Alish has Rs. 10 less and Alex has Rs.
5 more, the ratio of the respective amount with them will be
4 :11. What is the ratio of amount with Alish to Alex initially?

Options:

1. 2:1
2. 5:9
3.»v10: 21
4.+ 11:25

Question Number : 100 Question Id : 54592722926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TelleT 3T Teldrd & I FT I8 {1 3PN Telrer & I 4 39
MTOF T voT & U 15 TSI FH gL, O Jeleh Ty JTeT T
3T 3: 5 B 3191 Tellel & 91 10 9 FH 3R Telad
%WSE@H@?BT T 3ok | T T 77T 4 1 11
BT | S[F F Toller s &1 TfY HT 3eguTed UWQ?HTQTT@

g FT gIEI?

Options:

1. = 211
2. = 5:8
3. v 10 : 21
4. = 11 : 25

Arithmetic Ability?2
Group Number : 6
Group Id: 5459271136
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271136
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1



Sub-Section Id: 5459271362
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592722927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a bag, there are some red balls and some white balls. Five
red balls are withdrawn and the ratio of red balls to white
balls become 7 : 6. Again two white balls are withdrawn and
ratio of red balls to white balls become 5 : 4. Find the total
balls in the bag initially.

Options:

1.+ 70
2. % 60
3.= 84
4 %78

Question Number : 101 Question 1d : 54592722927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk §9T A, F AT I A FT T e El I AT g
faTshTer off STCiT & @Y offel el T Wihe el & TT HT 3Heqrd
7 : 6 8 a1 g1 T & a1 dthe 3 Toehrel off SATAT & ar ol
del T The dIal s AT FT [T 5 : 4 B STar g1 I8 A
ST H el I HT IAT AT

Options:

1. v 70
2. = 60
3. = 84
4. = 78

Question Number : 102 Question Id : 54592722928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are three numbers A, B and C such that B is six more
than A and 18 less than C. if A, B and C are in continued
proportion. Find the sum of all the three numbers.

Options:

1. » 36
2.v 39
3. % 45
4. % 48

Question Number : 102 Question Id : 54592722928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

di &IV g A, B3R C vdT & T B, A 8 &g 38+ ¢ 3T
C ¥ 18 &A & Ifg A, B 3R C faax sfqura & &1 dral
EIATT T AT AT HIAT|

Options:

1. » 36
2. v 39
3. = 45
4. = 48

Question Number : 103 Question Id : 54592722929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two sums of money in the ratio 5 : 7 are lent for a period of 5
years each. The rate of interest on the two sums are in the
ratio 3 : 4 and the difference in the simple interest on two
sums is Rs.1950. Find the sum of the simple interest on the
two sums.

Options:

1. v Rs.6450
2. » Rs.5580



3. * Rs.6600
4. % Rs.7250

Question Number : 103 Question Id : 54592722929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5: 7 % 3 H &l ThA, Yedeh 5 Tl 1 3@ & Tolv 39R”
ol ST &1 a6 ThAT W STTST 2T 3: 4 F 3o # § AT
THAT T ATIROT AT # 3aT 5.1950 &1 aF TERT o Areqmor
STl T T Tt |

Options:

1. v %.6450
2. » %.5580
3. = %.6600
4. = %.7250

Question Number : 104 Question Id : 54592722930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain money 1s invested at compound interest
(compounded annually) for three years. The rate of interest
for the first, second and third year is 10 percent, 20 percent
and 30 percent respectively. The amount after three years is
Rs.14586. What is the total compound interest for the three
years?

Options:

1. » RS.5566
2. » Rs.65906
3. v Rs.6086
4. = Rs.5864

Question Number : 104 Question Id : 54592722930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh ToIfRTd geIfer &7 dlel &Tel & folv Tehglig saTeT (aTiveh
FARNTSI) O SRR ST 1 9gel, §aY 3K deY a¥ & fov
TS hT &¥ AT 10 ufaerd, 20 uidera 3T 30 wufdera &
diel GTel & &1 <hT JTeT %.14586 &1 dlel Tl & Telw Sl
Thgle SIToT T §7

LR
Options:

1. = %.5566
2. % %.6590
3. v %.6086
4. = 55864

Question Number : 105 Question 1d : 54592722931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest accrued on an amount of Rs.48000 in
two years is Rs.14380.80. What would be the simple interest
on Rs.18500 at the same rate for two years and 6 months?

Options:

1. v Rs.6475
2. » R8.8375
3. = Rs.5625
4, » Rs.6125

Question Number : 105 Question Id : 54592722931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar e # %.48000 T O W 3ifold Tshgle sITeT $.14380.80
g1 25 grel 3T 6 FAg & foIv @A saaf ¥ W Rs.18500 WX
ATIROT sATST AT FIAT?

Options:

1. v %6475




2. » 58375
3. = %.5625
4. = 6125

Question Number : 106 Question Id : 54592722932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the speed of a train is 72 kmph. then how many metres are
covered by it in 10 minutes and 35 second?

Options:

1.« 12,700 metre
2. *» 18,000 metre
3. » 15000 metre
4, = 18,500 metre

Question Number : 106 Question Id : 54592722932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg ¢ef Fr aifar 72 foreY ufd a2 & ar 10 TAsiec 35 a9+ A
gl AT fehcialt gt O &1 ST &7

Options:

1. v 12,700 &
2. % 18,000 AT
3. = 15000 HeX
4. » 18,500 AT

Question Number : 107 Question Id : 54592722933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Man travelled a certain distance by car. One-third of

distance travelled at 60 km/hr. Two third of remaining

travelled at 50 km/hr and the rest at 70 km/hr. Find the
average speed of the car.



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 50 kmph
2. 48 kmph
3. 62 kmph
4. 52 kmph

Question Number : 107 Question Id : 54592722933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T JEAT & R F Uk AT gt a7 S v fdgrs gl 60
TordT / Tar & AT 1| AF &1 & & 50 FreAger &r afa &
T ST 75 ToRAT / "eT AT FT AT & I hTI FR FT

Mg T AT

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 50 TrdT 9fc =er
2. 48 TordAT wia wer
3. 62 fordAT wfa wer
4. 52 TordAT wia wer

Question Number : 108 Question Id : 54592722934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A boat running downstream covers a distance of 36 km in 3
hours. While for covering the same distance upstream it takes
9 hours. Find the speed of the boat in still water.

Options:

1. = 9 kmph
2. = 4 kmph
3. *» 6 kmph




4. v 8 kmph

Question Number : 108 Question Id : 54592722934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ST GRT T feerm # 36 AT &1 gt 3 5 A @ v §
Sterfeh 3T T T aRT T faudiq feem & 1 6 7 38 9 =
oETd &1 8T el & g & a1fad AT Hiied |

Options:

1. = 9 Tehael/Eer
2. = 4 fraATEer
3. = 6 frdVEer
4. v 8 TraATEer

Question Number : 109 Question Id : 54592722935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 boys and 3 girls can do a work in 3 days and 3 boys and 15
girls can do the same work in 1 day. If one boy completes the
full work in 4 days then a one girl can complete the same
work will be:

Options:

1. v 2 days
2. = 3 days
3. = 5 days
4. = 1 days

Question Number : 109 Question Id : 54592722935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2 o5k 3 3 wsforal 3 faa A v FTH T W T Tohad ¢

3T 3 o8 3T 15 oEThdl 39T 1A T 1 g H T Gha Bl
Ifg Ush oSRT 4 @l H FIH P QT HT ol § ar T oIS

FTH FI fohcdal f&al A I FT Forall &

Options:

1. v 2 o
2. % 3 feat
3. = 5 fea
4. = 1 e

Question Number : 110 Question Id : 54592722936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 6 hrs. Band Ccan do it in 9 hrs. A
and C can do it in 4 hrs. How long will B alone take to do it?

Options:

1. = 10 days
2. = 8 days

3. v 36 days
4. = 24 days

Question Number : 110 Question Id : 54592722936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATH FTH A 6 H BINC AT FHA A 9 g # T
gohd &1 A 3T C 38 4 9 & $T Iohd ¢l B el 39 A
I e H Tohddl THAT olFT?

Options:

1. = 10 fea1
2. % 8 o




3. v 36 faa
4, = 24 T

Question Number : 111 Question 1d : 54592722937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B and C contract a work for Rs. 497 together. A and B are
supposed to do 5/7 of the work. The amount that C gets is:

Options:

1. = Rs. 100
2. % Rs. 210
3. v Rs. 142
4. % Rs. 150

Question Number : 111 Question Id : 54592722937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B 3T C U& FT1H &I 497 T H HTH AT Fla HT Soh
od &1 Ifd A 3T B TR A T 5/7 HRT U ad & af C
1 fgear &7 B

Options:

1. = 100 &9
2. % 210 T
3. v 142 ¥4
4. = 150 ®q=&

Question Number : 112 Question Id : 54592722938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length and breadth of a rectangular field are in the ratio
3:2. A path 4 m wide running all around outside has an area

of 424 square metre. The breadth (in m) of the field is:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



1. 28
2.24
3.15
4,27

Question Number : 112 Question Id : 54592722938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordlT SMIATRIT &7 T oFaTg d9T TISTS &1 3equrd 3:2 &l Uk
4 AeT g TEAT ST 87 & Sy IR 3T § T 8T%d 424
Fat AT &1 &7 1 diss AT w2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 28
2. 24
3. 15
4. 27

Question Number : 113 Question Id : 54592722939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio between the length and breadth of a rectangular
park is 5 : 3. If a man cycling along the boundary of the park
at the speed of 12 kmph completes one round in 10 minutes,
then the area of the park (in sq.metre) is:

Options:

1. » 15360
2. v 234375
3. = 307200
4. % 23475

Question Number : 113 Question Id : 54592722939 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Uoh 3TIATIY 38Tel hl efFare 3N IS & AT 3 1 2 &0
3Te[UTeT &1 AfE Uk STk Semer shr ArAT oT 12 ot wfer @
ST Al & drsfeher Telrert 10 TAsie # Teh eFhd T ST ol
g, ol 3c¢dTal T &9%he (97 HleT #A) &

Options:

1. = 15360
2. v 234375
3. = 307200
4. = 23475

Question Number : 114 Question Id : 54592722940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sphere with radius 7 cm is cut into two equal parts. Find
the total surface area of both the parts.

Options:

1. = 880 sq cm
2. % 852 sqcm
3. v 924 sq cm
4. % 1104 sq cm

Question Number : 114 Question Id : 54592722940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 AT TSAT o Uk el I & GHTT {9 H e &A1 ST gl
G ICIEED Fel TG 8TFHel ATT HITST|

Options:

1. = 880 Tt TAT
2. = 852 Tdt AT
3. v 924 Tt @AY




4. = 1104 T3t @#T

Question Number : 115 Question Id : 54592722941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The following shows the courier charges (in Rs.) for sending a
1 kg parcel from one city to another study the table carefully
and answer the questions that follow:

Courler charges for sending parcels

Cities Allahabad | Mumbai | Kolkata | Delhi | Lucknow
Allahabad - 10 5 15 10
hMumbai 10 7 25 20
Kollata 3 7 - 20 15
Delhi 15 25 20 - 10
Lucknow 10 20 15 10 :

Among the following, the charges will be least for sending a
parcel from Mumbali to :

Options:

1. = Allahabad
2. v Kolkata

3. = Delhi

4. = Lucknow

Question Number : 115 Question Id : 54592722941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fraTTolad v ot & gEY aET A 1 fohell U #isial & folv
I ok (FTF A) AT § TTTelhT FT FALTAgaR HeqTe
F 3R fAFATel&d weall &7 3cad o

qriel ATl & folv FRAT ereeh

AT ELLHCIA HaS | Slorhrdn | fgeell | e@as
SATRIENE, - 10 5 15 10

ﬂ?’é 10 - 7 25 20
FIoThTar 5 7 - 20 15
ﬁﬁﬁ 15 25 20 - 10
e 10 20 15 10 -

farafai@a & |, o | & forw arder s
folT eesh A & FA gHT|

Options:

1. = Sollaldlg

2. v hIcThIdl

3. = f&ooll
4. = &>

Question Number : 116 Question Id : 54592722942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The population of a city is 7,20,000. They have done various
types of business which is given below by chart.

Pie-chart

Business, 249

Transport, 367

Agriculture, 1207

How much population percent are less in industry than in
agriculture?

Options:

1. = 20 percent
2. v 10 percent
3. % 15 percent
4. = 25 percent

Question Number : 116 Question Id : 54592722942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh o9 ahl STaa&dr 7,20,000 & R sugar eafaiEa
ged-T A yeikia o 713 g

Pie-chart
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i, 1207
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Options:

1. = 20 gfaera
2. v 10 gfaera
3. = 15 yfdera
4, = 25 gfaerd

Question Number : 117 Question Id : 54592722943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Table shows the number of articles sold by six different
sellers (A, B, C,D, E and F) to two different shopkeepers P and
(). Some articles are purchased by other sellers also. Total
articles purchased by shopkeepers P and ) is 300 and 500
respectively.

Seller P Q
A 45 56
B 53 49
C 28 44
D 38 38
E 35 65
F 55 60

What is the difference between total articles sold to P and Q
by all the sellers other than A, B, C, D, E and F?

Options:

1. = 172
2. % 162
3. = 152
4. v 142

Question Number : 117 Question Id : 54592722943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



aTfelerT & 3TT9T-3TeleT [sharait (A, B, C, D, E 3i¥ F) grT ar
3TelaT-37eld] SHhIERT P 3T Q FT ST 915 T3 HT TCAT HT
SRl T 1T ¥ $5 TV 3 Tashar3it ggnr ot T S g
HhTaeRT P 3 Q g@RT THIET 315 Fel TGV FAM: 300 3R
500 &I

fosar | P | Q
A 35 | 56
B 53 | 49
C 8 | 44
D 38 | 38
E 35 | 65
F 55 | 60
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Options:

1. % 172
2. = 162
3. % 152
4. v 142

Question Number : 118 Question Id : 54592722944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following graph gives the population in India for the
years 1931 to 1981. Study the graph and answer the questions
that follow.

Population of in India (in crores)
80
70
&0
50
a0 3614
a0 279
20
10
0 T
1931 18941 1851 1971 1981

The average increase (per year) from 1931 to 1981 is:

Options:

1.~ 0.81
2. % 0.76
3. = 0.89
4. = 0.67

Question Number : 118 Question Id : 54592722944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FafoTET ITF 9T & 1931 @ 1981 T =hT 3TETET i
ZATAT &1 ATH hT eI L 3T wRaT & 3ca< 2|

RT & FawET (F02 #)
BO
684
T0
B0 5L
S50 4353
36.14
o - 3185
" .
20
1
ﬂ T T T T T
1931 1841 1951 1961 1971 1981

1931 & 1981 e 3ftad gig (wfa a¥) &

Options:

1. v 0.81
2. = 0./6
3. = 0.89
4. = 0.67

Question Number : 119 Question Id : 54592722945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The given chart shows the sales of pistons in units as well as
in ‘000 Rupees for years 1986 to 1992. Refer to the data below
and answer the questions that follow:

3500

3000

2500
2000

1500

1000

500 SO

o T T T T T T 1
1986 1987 1988 1989 1990 1991 19492

—4— Sales (In Units) —M—5ales (in '000 Rs.)

Maximum percentage rise in rupee sales in any year was in:

Options:

1.~ 1987
2. » 1989
3. = 1990
4. = 1991

Question Number : 119 Question Id : 54592722945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feu v o st § fOwes Fr S & gra-aryr 1986 @
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Options:

1. v 1987
2. = 1989
3. = 1980
4. = 1997

Question Number : 120 Question Id : 54592722946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following Bar-graph shows the percentage profit earned by
two companies X and Y during the period of 2008 to 2014.

2014

2013

2012

2011

2010

2009

2008

T T T T T
0 10 20 30 40 50 60 70

BCompary X B Company Y

If the total income of Company Y in 2009 and that of Company
X 1n 2013 together is Rs.133 lakh, what is the sum of the
expenditure of Y in 2009 and the expenditure of X in the year
20137

Options:

1. v Rs.95 lakh

2. * Rs.133 lakh
3. » Rs.186.2 lakh
4. = Rs.3.1 lakh

Question Number : 120 Question Id : 54592722946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faFTraaa F-amw 2008 & 2014 Hr 3@afd & e ar
Fafaal X3 Y garr fSta ufaera ey o geifar &)

2014
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Options:

1. v %.95 o™
2. % 5,133 oM
3. % %.186.2 ot
4. » 3.1 oM
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Question Number : 121 Question 1d : 54592722947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence.

Options:

1. = About 70 species of fish live In the river.

2. » The new law takes effect in July 2020.

3. » Small paper bags are exempted from the penalty.

4. v Multiple states have ban one or more of these plastics.

Question Number : 121 Question 1d : 54592722947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence.

Options:

1. = About 70 species of fish live In the river.
2. * The new law takes effect in July 2020.
3. = Small paper bags are exempted from the penalty.

4. v Multiple states have ban one or more of these plastics.



Question Number : 122 Question Id : 54592722948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence.

Options:

1. = Grizzly bears, clearly, can be dangerous animals.

2. *» Ordinary volcanoes occur along the edges of tectonic
plates.

3. v The park was orphan idea with no clarity of purpose.

4. = Yellowstone is a great public attraction promising to
bring visitors.

Question Number : 122 Question Id : 54592722948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence.

Options:
1. = Grizzly bears, clearly, can be dangerous animals.
2. = Ordinary volcanoes occur along the edges of tectonic

plates.
3. v The park was orphan idea with no clarity of purpose.

4. = Yellowstone 1s a great public attraction promising to

bring visitors.

Question Number : 123 Question Id : 54592722949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence

Options:

1. = He suggests that steps must be taken to preserve such an
incredible landscape.

2. v If you don’t watch news how will you known what is
happening in the world?



3. » Sometimes customers will come and ask very intelligent
and relevant question.

4. = The fan is not working because of short circuit.

Question Number : 123 Question Id : 54592722949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence

Options:

1. * He suggests that steps must be taken to preserve

such an incredible landscape.

2. v If you don’t watch news how will you known what Is

happening In the world?

3. » Sometimes customers will come and ask very

intelligent and relevant question.

4. = The fan 1s not working because of some short circult.

Question Number : 124 Question Id : 54592722950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence

Options:

1. v Yellowstone Volcano Observatory reports that the cause
in the series is unknown.

2. = Yellowstone National Park is home to 500 geysers,
roughly half of Earth’s total.

3. » Steamboat Geyser, is the most powerful and tallest active
geyser in the world.

4. = The more slowly the disease spreads, the stronger the
genes

Question Number : 124 Question Id : 54592722950 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence

Options:

1. v Yellowstone Volcano Observatory reports that the

cause In the series i1s unknown.

2. = Yellowstone National Park i1s home to 500 geysers,

roughly half of Earth’s total.

3. = Steamboat Geyser, I1s the most powerful and tallest

active geyser In the world.

4, = The more slowly the disease spreads, the stronger the

genes

Question Number : 125 Question Id : 54592722951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence

Options:

1. * News today is a major negative and has a huge impact on
everyone who watches it.

2. = The project is bound to open up a new window to the
plant’s molecular secrets.

3. » Like a good novel, most cricket innings have a beginning,
a middle and an end.

4. v If India has looked best team so far, it has to do with their
ability and performance.

Question Number : 125 Question Id : 54592722951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically INCORRECT sentence

Options:



1. * News today I1s a major negative and has a huge

iImpact on everyone who watches It.

2. » The project i1s bound to open up a new window to the

plant’'s molecular secrets.

3. = Like a good novel, most cricket innings have a

beginning, a middle and an end.

4. v If India has looked best team so far, it has to do with

their ability and performance.

Question Number : 126 Question Id : 54592722952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The concept of a selfie is directly linked to internet culture
and the human desire to interact on soclial platforms.

Options:

1. = is directly link on

2. = are directly linked to
3. » Is direct link to
4. v No substitution required

Question Number : 126 Question 1d : 54592722952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

The concept of a selfie 1s directly linked to internet culture

and the human desire to interact on social platforms.

Options:

1. = I1s directly link on

2. % are directly linked to

3. = 1s direct link to

4. v No substitution required

Question Number : 127 Question 1d : 54592722953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Cameras used In space needs to survived extreme conditions,
like temperature swings from -149° to 248°F.

Options:

1. = needs to survive

2. = needing to survived
3. v need to survive
4. = No substitution required

Question Number : 127 Question Id : 54592722953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

Cameras used In space needs to survived. extreme

conditions, like temperature swings from -149° to 248°F.

Options:

1. * needs to survive

2. » needing to survived
3. ¥ need to survive
4,

* No substitution required

Question Number : 128 Question 1d : 54592722954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Scientists don't know at exact time it take for Teegarden’s star
to rotate on Its axis.

Options:

1. = the exacting time that take

2. % an exact time it took
3. v the exact time it takes
4. = No substitution required

Question Number : 128 Question Id : 54592722954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

Scientists dont know at _exact time it take for Teegarden’s

star to rotate on its axis.

Options:

1. = the exacting time that take
2. % an exact time it took
3. ¢ the exact time it takes

4, = No substitution required

Question Number : 129 Question 1d : 54592722955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Cities and city residents can be grew 30 percent of the
milkweed plants monarch butterflies need to survive.

Options:

1. = might be grow a 30 percent of

2. v could grow 30 percent of
3. = could grown 30 percent of
4. = No substitution required

Question Number : 129 Question Id : 54592722955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

Cities and city residents can be grew 30 percent of the

milkweed plants monarch butterflies need to survive.

Options:

1. = might be grow a 30 percent of
2. v could grow 30 percent of
3. = could grown 30 percent of

4, = No substitution required

Question Number : 130 Question 1d : 54592722956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Studies show green spaces make people happier and healthier.

Options:

1. * makes people more happier and more healthier
2. » made people happy and healthier

3. » made people happier and healthy

4. v No substitution required

Question Number : 130 Question Id : 54592722956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

Studies show green spaces make people happier and

healthier.

Options:

1. * makes people more happier and more healthier
2. » made people happy and healthier
3. * made people happier and healthy

4. v No substitution required

Question Number : 131 Question Id : 54592722957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Tundra plants have developed adaptations that them
thrive in this harsh climate.

Options:

1. v help
2. = helps
3. = helping
4. = helped

Question Number : 131 Question Id : 54592722957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Tundra plants have developed adaptations that

them thrive In this harsh climate.

Options:

1. v help
2. = helps
3. # helping
4. = helped

Question Number : 132 Question Id : 54592722958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Arctic clouds are particularly sensitive air pollution,
which spurs cloud formation and has a blanketing effect.

Options:

1. = of
2. v 10
3. = with
4. = for

Question Number : 132 Question Id : 54592722958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Arctic clouds are particularly sensitive air pollution,

which spurs cloud formation and has a blanketing effect.

Options:



1. = of
2. v to
3. # with
4, = for

Question Number : 133 Question Id : 54592722959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Chemicals used in coolants and aerosol sprays have
ozone depletion at the North and the South Poles.

Options:

1. = drive
2. » drove
3. v driven
4. = drew

Question Number : 133 Question Id : 54592722959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Chemicals used In coolants and aerosol sprays have

ozone depletion at the North and the South Poles.

Options:

1. = drive
2. = drove
3. v driven

4. = drew



Question Number : 134 Question 1d : 54592722960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The red fox, which is typically found south, is moving
north onto the tundra and competing with the Arctic fox for
food and territory.

Options:

1. » onwards
2. » Inwards
3. = further
4. v farther

Question Number : 134 Question Id : 54592722960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The red fox, which i1s typically found south, Is

moving north onto the tundra and competing with the Arctic

fox for food and territory.

Options:

1. = onwards
2. % Inwards
3. = further

4. v farther

Question Number : 135 Question 1d : 54592722961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Cutting harmful, planet-warming pollution by switching
fossil fuels is key to safeguarding Earth’s tundra
habitats.

Options:

1. v away from

2. » distance from
3. % near to

4. = instead of

Question Number : 135 Question 1d : 54592722961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Cutting harmful, planet-warming pollution by switching

fossil fuels Is key to safeguarding Earth's tundra

habitats.

Options:

1. v away from
2. = distance from
3. % near to

4. = nstead of

Question Number : 136 Question Id : 54592722962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Through the struggle, the tribe has managed their
language, their animist worldview, and their nomadic
traditions.

Options:

1. = sustain

2. v 10 sustain

3. » 1n sustaining
4. = for sustaining

Question Number : 136 Question Id : 54592722962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Through the struggle, the tribe has managed their

language, their animist worldview, and their nomadic

traditions.

Options:

1. = sustain

2. v to sustain

3. % In sustaining
4. = for sustaining

Question Number : 137 Question Id : 54592722963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

the species’ survival is certain, conservationists won’t
tell anyone where they are.

Options:

1. = If

2. = Though
3. v Until

4. » Since

Question Number : 137 Question Id : 54592722963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

the species’ survival is certain, conservationists won’

t tell anyone where they are.

Options:

1. = |If
2. = Though
3. v Until

4. = Since

Question Number : 138 Question Id : 54592722964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

A tree’s role In an ecosystem 1s complex, that if you
reengineer a species even a little bit, it can have unintended
consequences.

Options:



1. = very
2. = highly
3. = rarely
4. v S0

Question Number : 138 Question Id : 54592722964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A tree’s role in an ecosystem Is complex, that If

you reengineer a species even a little bit, it can have

unintended consequences.

Options:

1. = very
2. % highly
3. # rarely

4. v so

Question Number : 139 Question Id : 54592722965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of a sentence have been jumbled up. Arrange these
parts in a meaningful order.

A. once one of the dirtiest in the U.S,
B. has seen a resurgence of life

C. both on the surface and below

D. Cleveland’s Cuyahoga River,

Options:

1. v DABC



2. » DACB
3. = DCBA
4. = DBAC

Question Number : 139 Question Id : 54592722965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of a sentence have been jumbled up. Arrange these

parts in a meaningful order.

A. once one of the dirtiest in the U.S,
B. has seen a resurgence of life
C. both on the surface and below

D. Cleveland's Cuyahoga River,

Options:

1. v DABC
2. = DACB
3. = DCBA
4. = DBAC

Question Number : 140 Question Id : 54592722966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the jumbled sentences to make a meaningful
paragraph.

A. Nowhere on Earth has such a stunning display of wildlife,
matched with an incredible assortment of geologic activity in
the form of hot springs and geysers.

B. Yellowstone National Park - People have long been
enchanted by this land.

C. It really is, as it was referred to in its early days, a
wonderland.

D. and it’s easy to see why.

Options:

1. = BDCA
2. v BDAC
3. = ABCD
4. = BCAD

Question Number : 140 Question 1d : 54592722966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the jumbled sentences to make a meaningful

paragraph.

A. Nowhere on Earth has such a stunning display of
wildlife, matched with an incredible assortment of geologic
activity In the form of hot springs and geysers.

B. Near Yellowstone National Park - People have long been
enchanted by this land.

C. It really 1s, as it was referred to In its early days, a
wonderland.

D. and it's easy to see why.

Options:
1. = BDCA
2. v BDAC
3. = ABCD
4. = BCAD
General English2
Group Number : 8
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General English2

Section Id : 5459271138

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271364
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592722967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of a sentence have been jumbled up. Arrange these
parts in a meaningful order.

A. aboard space vehicles since the 1960s,
B. and they've taken plenty of

C. Astronauts have been carrying cameras
D. pictures of themselves along the way.

Options:

1. « CBAD
2. » CADB
3. v CABD
4. = CDBA

Question Number : 141 Question Id : 54592722967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts of a sentence have been jumbled up. Arrange these

parts In a meaningful order.

A. aboard space vehicles since the 1960s,
B. and they've taken plenty of
C. Astronauts have been carrying cameras

D. pictures of themselves along the way.

Options:

1. = CBAD
2. = CADB
3. v CABD
4. = CDBA

Question Number : 142 Question Id : 54592722968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

Abundant

Options:

1. v Plentiful
2. = Impressive
3. = Cautious
4. » Audacious

Question Number : 142 Question Id : 54592722968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

Abundant

Options:

1. v Plentiful
2. ®» Impressive
3. = Cautious

4. = Audacious

Question Number : 143 Question Id : 54592722969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

Authentic

Options:

1. = Accurate
2. v Falsified
3. » Tangible
4. = Learned

Question Number : 143 Question Id : 54592722969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

Authentic

Options:

1. = Accurate

2. v Falsified



3. = Tangible
4. = Learned

Question Number : 144 Question Id : 54592722970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

Triumph
Options:

1. * Dominant
2. » Extraordinary
3. v A great victory
4. = Nuisance

Question Number : 144 Question 1d : 54592722970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

Triumph
Options:

1. = Dominant
2. » Extraordinary
3. v A great victory

4. = Nuisance

Question Number : 145 Question Id : 54592722971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

Dauntless

Options:



1. v Cowardly
2. » Assured
3. = Unusual
4. = Noticeable

Question Number : 145 Question Id : 54592722971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

Dauntless

Options:

1. v Cowardly
2. » Assured
3. * Unusual
4. = Noticeable

Question Number : 146 Question Id : 54592722972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

Dried fruits such as or sultanas are frequently added

to this basic mix.

I'm not expected to be well-educated on modern politics and
events.

Options:

1. = currents, currants
2. v currants, current
3. # current, current
4, = currants, currants



Question Number : 146 Question 1d : 54592722972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

Dried fruits such as or sultanas are frequently

added to this basic mix.
I'm not expected to be well-educated on modern politics and

events.

Options:

1. = currents, currants
2. v currants, current
3. = current, current

4. = currants, currants

Question Number : 147 Question Id : 54592722973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. v Guidance
2. » Abcense

3. = Abundent
4. = Dominent

Question Number : 147 Question Id : 54592722973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. v Quidance

2.  Abcense



3. * Abundent

4. = Dominent

Question Number : 148 Question Id : 54592722974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. = Villien

2. v Spiritual
3. = Brillient
4. = Premitive

Question Number : 148 Question Id : 54592722974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. = Villien
2. v Spiritual
3. = Bnllient

4. = Premitive

Question Number : 149 Question Id : 54592722975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. = Parellal

2. » Nuisence
3. v Exhibition
4. = Appratus

Question Number : 149 Question Id : 54592722975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correctly spelt word.

Options:

1. = Parellal

2. * Nuisence
3. v Exhibition
4. = Appratus

Question Number : 150 Question 1d : 54592722976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined idiom
in the given sentence.

They are at odds over the best way to lead the committee.

Options:

1. v In conflict

2. » In a dilemma

3. #» In support of

4. = In a state of confusion

Question Number : 150 Question 1d : 54592722976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined idiom

In the given sentence.

They are at odds over the best way to lead the committee.

Options:

1. ¢ In conflict

2. % |In a dilemma



3. # In support of

4. = |In a state of confusion

Question Number : 151 Question Id : 54592722977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined idiom
in the given sentence.

There is some excitement on the horizon, but I can’t tell you
about it.

Options:

1. = In a state of secrecy

2. v Soon to happen
3. = Just in time
4. = Likely to discomfort

Question Number : 151 Question Id : 54592722977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined idiom

In the given sentence.

There i1s some excitement on the horizon, but | can't tell

you about It.

Options:

1. = In a state of secrecy
2. v Soon to happen
3. = Just In time

4. = Likely to discomfort



Question Number : 152 Question Id : 54592722978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined idiom
in the given sentence.

I've been on a wild goose chase trying to find a bag of Dan’s
favorite potato chips.

Options:

1. = In a disorganized manner

2. = Lacking confidence
3. v A worthless chase
4. = In total control

Question Number : 152 Question Id : 54592722978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the underlined idiom

In the given sentence.

I've been on a wild goose chase trying to find a bag of

Dan's favorite potato chips.

Options:

1. = In a disorganized manner
2. % Lacking confidence
3. v A worthless chase

4. = |n total control

Question Number : 153 Question Id : 54592722979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

Spend the winter in a dormant state:

Options:

1. v Hibernate
2. = Comatose
3. = Celibate

4. = Bifurcate

Question Number : 153 Question Id : 54592722979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Spend the winter in a dormant state:

Options:

1. v Hibernate
2. » Comatose
3. # Celibate
4. = Bifurcate

Question Number : 154 Question Id : 54592722980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A magical or medicinal potion:

Options:

1. * Enigma



2. v Elixir
3. = Fragile
4. = Hybrid

Question Number : 154 Question Id : 54592722980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A magical or medicinal potion:

Options:

1. = Enigma
2. v Elixir

3. = Fragile
4. = Hybrnd

Question Number : 155 Question Id : 54592722981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

An official pardon for people convicted of political offences:

Options:

1. = Debacle
2. * Equine
3. v Amnesty
4. = Cardinal

Question Number : 155 Question Id : 54592722981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

An official pardon for people convicted of political offences:

Options:

1. = Debacle

2. = Equine

3. v Amnesty

4. = Cardinal
Sub-Section Number: 2
Sub-Section I d: 5459271365
Question Shuffling Allowed : Yes

Question Id : 54592722982 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that follow.

Globalization is a process of interaction and integration
among the people, companies, and governments of different
nations, a process driven by international trade and
investment and aided by information technology. This process
has effects on the environment, on culture, on political
systems, on economic development and prosperity, and on
human physical well-being in societies around the world.

Globalization is not new, though. For thousands of years,
people—and, later, corporations—have been buying from and
selling to each other in lands at great distances, such as
through the famed Silk Road across Central Asia that
connected China and Europe during the Middle Ages.
Likewise, for centuries, people and corporations have
invested in enterprises in other countries. In fact, many of the
features of the current wave of globalization are similar to
those prevailing hefore the outbreak of the First World War
in 1914.

But policy and technological developments of the past few
decades have spurred increases in cross-border trade,
investment, and migration so large that many observers
believe the world has entered a qualitatively new phase in its
economic development. Since 1950, for example, the volume
of world trade has increased by 20 times, and from just 1997
to 1999 flows of foreign investment nearly doubled, from
$468 billion to $827 billion. Distinguishing this current wave
of globalization from earlier ones, author Thomas Friedman
has said that today globalization is “farther, faster, cheaper,
and deeper.”

This current wave of globalization has been driven by policies
that have opened economies domestically and internationally.
In the years since the Second World War, and especially
during the past two decades, many governments have
adopted free-market economic systems, vastly increasing
their own productive potential and creating myriad new
opportunities for international trade and investment.
Governments also have negotiated dramatic reductions in
barriers to commerce and have established international
agreements to promote trade in goods, services, and
investment. Taking advantage of new opportunities in foreign
markets, corporations have built foreign factories and
established production and marketing arrangements with
foreign partners. A defining feature of globalization,
therefore, is an international industrial and financial business
structure.



Sub questions

Question Number : 156 Question Id : 54592722983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, the process of globalization
has effects on all of the following except:

Options:

1. v Information Technology
2. = Political Systems

3. » Economic Development
4. * Human Well-being

Question Number : 157 Question Id : 54592722984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the passage, the author states that globalization as a
process 1s not new because:

Options:

1. = People and corporations rarely joined hands towards
business and enterprise.

2. v For many years, people and corporations have invested in
enterprises in other countries.

3. » The current wave of globalization is comparatively a new
phenomenon.

4. = Both People and corporations rarely joined hands
towards business and enterprise. and The current wave of
globalization is comparatively a new phenomenorn.

Question Number : 158 Question Id : 54592722985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, the world has entered a new phase
in economic development because:

Options:



1. * The volume of trade in the last few decades has remained
comparatively low.

2. * Glven the economic policies, globalization is still a pipe
dream for many developing nations.

3. v The last few decades have increased cross border trade,
investment, and migration.

4. = Globalization is proving to be a process far-fetched from
the recent trends in the market.

Question Number : 159 Question Id : 54592722986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following isfare not true in the light of the
passage?
Options:

1. = Globalizations as a process has effects on various factors
including physical well-being in societies around the world.

2. = The recent wave of globalization has resulted in a more
open economies internationally.

3. » Globalization imbibes the twin process of interaction and
integration.

4. v Foreign factories and foreign partners have a minimal
role to play in the recent wave of new opportunities.

Question Number : 160 Question Id : 54592722987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the one that is closest
in meaning to the word ‘myriad’ as used in the 4th paragraph,
2nd line.

Options:

1. v Extremely great in number
2. = Limited in scope



3. » Lacking variety
4. = Both Limited in scope and Lacking variety

Question Id : 54592722982 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that

follow.

Globalization is a process of interaction and integration
among the people, companies, and governments of different
nations, a process driven by international trade and
investment and aided by information technology. This
process has effects on the environment, on culture, on
political systems, on economic development and prosperity,
and on human physical well-being in societies around the

world.

Globalization is not new, though. For thousands of years,
people—and, later, corporations—have been buying from and
selling to each other in lands at great distances, such as
through the famed Silk Road across Central Asia that
connected China and Europe during the Middle Ages.
Likewise, for centuries, people and corporations have
invested in enterprises in other countries. In fact, many of
the features of the current wave of globalization are similar
to those prevailing before the outbreak of the First World
War in 1914,

But policy and technological developments of the past few
decades have spurred increases in cross-border trade,
investment, and migration so large that many observers
believe the world has entered a qualitatively new phase in
its economic development. Since 1950, for example, the
volume of world trade has increased by 20 times, and from
just 1997 to 1999 flows of foreign investment nearly
doubled, from $468 billion to $827 billion. Distinguishing this
current wave of globalization from earlier ones, author
Thomas Friedman has said that today globalization is

“farther, faster, cheaper, and deeper.”

This current wave of globalization has been driven by
policies that have opened economies domestically and
internationally. In the years since the Second World War,
and especially during the past two decades, many
governments have adopted free-market economic systems,
vastly increasing their own productive potential and creating
myriad new opportunities for international trade and
investment. Governments also have negotiated dramatic
reductions in barriers to commerce and have established
international agreements to promote trade in goods,
services, and investment. Taking advantage of new
opportunities in foreign markets, corporations have built
foreign factories and established production and marketing
arrangements with foreign partners. A defining feature of
globalization, therefore, is an international industrial and

financial business structure.



Sub questions

Question Number : 156 Question Id : 54592722983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, the process of globalization

has effects on all of the following except:

Options:

1. v Information Technology
2. = Political Systems
3. = Economic Development

4, = Human Well-being

Question Number : 157 Question Id : 54592722984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the passage, the author states that globalization as a

process Is not new because:

Options:

1. = People and corporations rarely joined hands towards

business and enterprise.

2. v For many years, people and corporations have

Invested In enterprises in other countries.

3. » The current wave of globalization i1s comparatively a

new phenomenon.

4, = Both People and corporations rarely joined hands
towards business and enterprise. and The current wave of

globalization I1s comparatively a new phenomenon.

Question Number : 158 Question Id : 54592722985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



According to the passage, the world has entered a new

phase In economic development because:

Options:

1. = The volume of trade In the last few decades has

remained comparatively low.

2. = (Qiven the economic policies, globalization i1s still a pipe

dream for many developing nations.

3. v The last few decades have increased cross border

trade, investment, and migration.

4. = (3lobalization I1s proving to be a process far-fetched

from the recent trends in the market.

Question Number : 159 Question Id : 54592722986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following isfare not true In the light of the

passage”

Options:

1. = Globalizations as a process has effects on various
factors including physical well-being in societies around the

world.

2. = The recent wave of globalization has resulted In a

more open economies Internationally.

3. ® Globalization imbibes the twin process of interaction

and Integration.

4. v Foreign factories and foreign partners have a minimal

role to play Iin the recent wave of new opportunities.



Question Number : 160 Question Id : 54592722987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the one that is
closest iIn meaning to the word ‘myriad’ as used In the 4th

paragraph, 2nd line.

Options:

1. v Extremely great in number
2. % Limited In scope
3. = Lacking variety

4. = Both Limited in scope and Lacking variety
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592722988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel T STe[c # § dagel <Te[C, AT Iy

Options:

1. v 3T
2. % Iq9
3. % 3

4. * WYY

Question Number : 161 Question Id : 54592722988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl a elec B @ dgg e ATd hITA0-

Options:

1. v 39T

2. % dcg
3. = 3fdaT
4, = AJL

oy,
Question Number : 162 Question Id : 54592722989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTHATC I e[, § & DIF-ET UGS PHUY FHTE Dl I 572

Options:

1. * TATeA
2. v AT
3. = Fell®d
4. % AT

Question Number : 162 Question Id : 54592722989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT o8 H T hlol-AT s FHIRT THATH T 3EEI0T &7

Options:




B W=
®

% Haololol

Question Number : 163 Question 1d : 54592722990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel T 2e[c # § hI=T-HT 0T Fivel Al ITgIul g7

Options:

1. v gaicg
2. % HApg
3. * AIEATE
4, % AT

Question Number : 163 Question Id : 54592722990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraTalIa orse A & FieT-AT IUT Hled FT 30T §7

Options:

1. v AT

2.
3. = HMATAG
4. = IR

Question Number : 164 Question Id : 54592722991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTSATS e[S # DIF-TT U I o1l 8?

Options:
1. %
2. % 3T

3. % qIS




4, v AT

Question Number : 164 Question 1d : 54592722991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qi8dISel o6 A Hid-OT TcIT ofdlT &7

Options:

1. = o
2. % Ml

3. * drgel
4. v 35l

Question Number : 165 Question Id : 54592722992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P e[, HHATe I d H ¥ SI--9T Fel=TH g?

Options:

1. * GHATAD

2. v JTLEIeTDh
3. # YIqdTdd

4. » MEgarad

Question Number : 165 Question Id : 54592722992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TS oo [AedToild H & Hia-ar gadTH g7

.
Options:

1. = gaygardaeh
2. v 3feTeTdreh
3. = HIdId<h
4,

« Teregaar<reh

Question Number : 166 Question Id : 54592722993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 37 Yehe i dTel e[S Dl AT Dhgd g7




Options:

1. » eprdt e
2. v GHTTAT Qe
3. * TatauTda e
4. = Teleli¥ SIeC,

Question Number : 166 Question Id : 54592722993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk 3T Uohe el TTol 9TSaT T FAT Fad &7

Options:

1. = TRl oTeg
2. v GHTATAT ereg
3. = Tafaurder ereg
4, » TaellH ersg

Question Number : 167 Question 1d : 54592722994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAATerTad Sreel # ¥ e AT AT I DITIU-

Options:

1. * BATIAT
2. % PATTAT
3. = daTAT
4, v TETIAT

Question Number : 167 Question 1d : 54592722994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGESIEECEIGEAR ] G eTsal hT UUel hIToIU-

Options:

1. % HIARAET
2. % hAAr
3. % hggAr




4. v FARET

Question Number : 168 Question Id : 54592722995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tl ad e # & TATIard SIEE, HT ad Piiy-

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. e
2. dlelld

3. 3w
4. "9

Question Number : 168 Question 1d : 54592722995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl &d esel & & TATIGRT 8 T Idel hITollu-

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 9cdT
2. drlells
3. eeT

4. Hlal

Question Number : 169 Question Id : 54592722996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dhieUd Bl [T S 3

Options:

1. vaqZ
2. % T
3. % S
4, = TgI

Question Number : 169 Question Id : 54592722996 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

wleud &7 feH o= &-

Options:

1. v G
2. = [T

3. = o
4. = @

Question Number : 170 Question Id : 54592722997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3R AGTHRA HYHR F ol H{ITPATRT T X H 3T h
1Y TS AT gl

Options:

1. » Taeer

2. v HILT

3. % JAATHI

4, = TTYT YRA

Question Number : 170 Question Id : 54592722997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TARIUT AR AETHRT FAR T AR FedlhART Th AR
H 3T & G 9 ST &

Options:

1. = Taeq
2. v AN

3. ® 3cdd HRd

4. = ZIEUT AR

Question Number : 171 Question Id : 54592722998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS # TEU 77 R fddhorul # & TG LA, DT ATT -




Options:

1. » d¢
2.« Pl

3. % Fl
4. % 3UMYE,

Question Number : 171 Question Id : 54592722998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ty H BT 90 I [Qdredl & O 3109TT o6 T T -

Options:

1. = dg

2. v hlad

3. ® FET
4. » 39Ta9c

Question Number : 172 Question 1d : 54592722999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T § § hI<-9T L[S, G DI TIIgereit Tg1 g7

Options:

1. % &I
2. % QT
3. * M9RR
4. v 3y

Question Number : 172 Question 1d : 54592722999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fre & & FleT-AT 2reg 3T FT AT QT §7

Options:

1. » et
2. % &g
3. = Torem=T




4. Jé‘&’l‘UT

Question Number : 173 Question Id : 54592723000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST GHT T TehdT HEI U & Ul T el UTAT & Telq LA DT AaT -

Options:

1. v JATHA
2. % ¥
3. = T

4. % gUSAT

~,

Question Number : 173 Question Id : 54592723000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2¢T AT IT T AT gbsra:ﬂvﬁq'\r?r&wa:ﬁvam

FT TIT Fi-

Options:

1. v THATT
2. = 3ffeea
3. = G
4. = sSAT

Question Number : 174 Question Id : 54592723001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TIEHHUT T LATTedeh 7Y 3

Options:

1. v Thdl & 2@ & T gl 39 T ST L
2. % AT &8 &A1

3. * WY Gt Wells DL

4. % JYNTT P

Question Number : 174 Question Id : 54592723001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3eTsheaT T eMfsaeh 3L

Options:

1. v 8T & 5@ ¥ &7 g9 30 W AT il
2. % HET gelel T

3. * UeTod BIRL HTS hldl

4, % 3YhL hldl

Question Number : 175 Question 1d : 54592723002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel g # 9 hl--9T A << 872

Options:

1. * OT-ER

2. % BIC-BIC
3. % AR
4, v IT-UIsT

Question Number : 175 Question 1d : 54592723002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d A & Fla-97 J7A e &7

Options:

1. » EI-EX
2. = BIE-BIT
3. * IR-AT
4, v 3ET-49resT

Question Number : 176 Question Id : 54592723003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 28 & GATT UL 3ATS FY & B e ATpT<r & Tel 8T T Terepequt
# ¥ IUgpd UGS T

Options:

1. » g




2. % QAT
3. * FeATur

-,

4. v IS

Question Number : 176 Question Id : 54592723003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST AT & TUTT W AT §F & FH L ararer & fov fqw
T fahedl A F 3UIFT Mg IaAv-

Options:

1. = 3TTATAT

2.
3. % FgegTar
4. v T

Question Number : 177 Question 1d : 54592723004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T § ¥ I<-9T SIC, Jiei T g2

Options:

1. v GUqHT
2. % qTolqleg
3. = Oid

4, % HIIAT

Question Number : 177 Question 1d : 54592723004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foed # O Hid-AT U< gﬁl'clT ¥4

Options:

1.$E§'IFF|T




4. = ATl

Question Number : 178 Question Id : 54592723005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T IT G- & S T F THBT Y e1pd o [chdl T A, & g1
qhe BIaT 3 39 Pad &-

Options:

1. % Tl
2. % o
3. ¢ hTh
4, = hlel

Question Number : 178 Question Id : 54592723005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT FAH & 0T &7 & 3T o qorg & ToRar ga
¢gTeg & T2l Wehe EIAT & 38 Fgd &-

Options:

1. = Torar

2. % g<d
3. ¢ Pk
4. = Rlel

Question Number : 179 Question Id : 54592723006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel G # 9 ehI<-T HTETTer Yehlel Bl ITgIul g2

Options:

1. * ag TT

2. % dg AT

3. % g S dTell g

4, v gg AT 5T

Question Number : 179 Question Id : 54592723006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




eI A & Fi-A7 Gl H{dohTel T 30T 87

Options:

1. = g& 4T

2. « dg SR

3. » g Sla el &
4. v & AT 110

Question Number : 180 Question Id : 54592723007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ATl G @ & Telq 18U MY Terehelul # ¥ 39 Iqch YR T [Kivgd
hioT

"UHT D97 YRAATHT g S g T GgIAT TTeT &1 910 7 g7 37

Options:

1. = Lo aTHT
2. * FgT G
3. v My arpg
4. % oTy] qThY

Question Number : 180 Question Id : 54592723007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FITelT gy & oIT w9 Fheul & T 39 39 U
IT [fead FfIow

'THT HiT-OT IRITRT § Toide TSeudr #eTcAT T T o o
e &l

Options:

1. = Ll Al

2. % {-i*’:-ljci'd CIER?



3. v T8 gy

4, = ofg dlay
M

General Hindi?2

Group Number : 10
Group Id: 5459271140
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section 1d : 5459271140

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271367
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592723008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel T aTRd @ Tl & MY ferepe(ul # & IGh Iqh TR 4T Kivgd
CAIE LY

Options:

1. v 9ol AT




2. * GIPd a1
3. = Ay a1pg
4. % oTe] dTpd

Question Number : 181 Question Id : 54592723008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafe@a g & v T a7 Ghedl & & 384 399 TR

Options:

1. v O3 Ay

2. % {-i*’:-ljci'd CIER?

3. = T8 gy

4. = oI gy
P

Question Number : 182 Question Id : 54592723009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATeTad ¥ & g aTpd B

Options:

1. » HIgT = T TH STol & A ThaT
2. % AT STel & AT § AT ThdT 14T
3. * GAM ThdT #ig o T Sol &

4. v WG = A SToT 4 AT Thar

Question Number : 182 Question Id : 54592723009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 7 @ o asF g &-

Options:

1. = Agel o ofal INA STl H ToAlel ToRT




2. « IeEe STel & HIgel @ Tollel fohar
3. = Tellel ToRAT AlGeT o I[eTdlal STel &

4. v AgT o Al Sol & Fellel fohaT

Question Number : 183 Question Id : 54592723010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAT G # & GICAT ol Sgera &Y BT gHIT?

Options:

Question Number : 183 Question Id : 54592723010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ 7 @ Tfear &= SEedel T ] B19TT-

Options:

1. = @&

2. v Frear
3. = FMCT
4, = FricaAr

Question Number : 184 Question 1d : 54592723011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & & Par g a1 37

1. » e o Ty

2. * 3T AL
3. * S{ITeT § ©FIT 3EhIT AT

4. v ¥ HEIT THdDh oI

Question Number : 184 Question Id : 54592723011 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

farafeli@d & @ Fla-ar qg asFg &7

Options:

1. = AT 96l A ¢

2. % 3TURT HTad

3. = STl H Holl 3TYhR AT
4. wﬁ@?%ﬂfrg%dqw ol

Question Number : 185 Question Id : 54592723012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # ¥ -9 IqaH To0 dl IEIgL0 g2

Options:

1. » qHg dgl Pl T ST ATgY

2. v {2 VI lel YA UES §

3. % g SNA I & U @ @l 3
4. = 38 Tgl ¥ garan

Question Number : 185 Question Id : 54592723012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@d & & FI-A7 3cdd TBY T 32T 87

Options:

1.&@3&% gal Tl o ST I1ge

2. v #{ YIS ol HHAT THE &

3. * TF TANIT ofel & Tt 3T & &
4, » Fog Ja&I T &3l

Question Number : 186 Question Id : 54592723013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHUC PRD & o1 TZDd giv aTell g &-

Options:

1. = 7




2. % @Y
3.x 9
4, v @, & g

Question Number : 186 Question Id : 54592723013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFICTeT e & Tolw EPET] gla arelm "Ieg &-

Options:

1. = &
2. % &I
3. » &
4. v HI, & Tow

Question Number : 187 Question Id : 54592723014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSIE &g T TehdiT & T T UTAT STdT § 39 hgd &-

1. = &H

2. v 3TUTETT
3. * ey

4. = UG

Question Number : 187 Question Id : 54592723014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o a&q 1 Tordl & g Ble IR ST § 38 Shed &-

Options:

1. = FH
2. v 3YIaTe
3. » gFEY
4. » FEIETT




Question Number : 188 Question Id : 54592723015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # & DI-TT W JRAT eTelT AT A e[S 8?

Options:

1. = Biel-Hietd
2. ¢ Del-hUc

3. % EET-UTHT
4, « T4

Question Number : 188 Question Id : 54592723015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaet & & Fie-a7 Fieal STUROT dTell FATATAT oA oo g7

Options:

1. *= ehicl-chlolehl

2. v Bel-h4c
3. % EIAT-UTaAT
4, % JI-JT

Question Number : 189 Question Id : 54592723016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIRTH Tei=[g Tehd HIWT &l & 82

Options:

1. v 31T
2. = Tacl

3.« TP
4. % IRET

Question Number : 189 Question Id : 54592723016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fara e forg srwr fr 297 &2

Options:

1. v 33T



2. = fg&r

3. = &hd

.

4, = 3TET

Question Number : 190 Question Id : 54592723017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTAT-TUT H I-4T Fg g7

Options:

1. » YSFeTID g
2. % HEUd I g

3. * JGeRUITg
4. v GO g

Question Number : 190 Question Id : 54592723017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATAT-TUaT H $id-ar Reg &7

Options:

1. = YRAGIFR eg
2. = facereh Kog

3. » 3GALUIRIeR

4. v GAroTh =og

Question Number : 191 Question 1d : 54592723018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiC, o ¥ DI ATPII e T AT P ATY AT 39 (¢ el FaT v
TR Tevg @ THerdt 2-

Options:

1. » TeIeRu o g
2. % o7 Fa[g
3. v §9UC,

4, » oTTu To g




Question Number : 191 Question 1d : 54592723018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I oI A HIF AT e AT 3HEW Je A0 T 30 AT A
g forg foua fReg @ fferdr &7

Options:

1. = fdexor Keg
2. = ollq =g
3. v OIS
4, = o9eT Ieg

Question Number : 192 Question Id : 54592723019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HGTeRT Tehd HIWT T SIE[C, g7

Options:

1. v 3RET
2. = Tacl

3. = TP
4. % TSI

Question Number : 192 Question Id : 54592723019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HETaT ford TN T oTeg 87

‘Ip. v 3TET
2.
3. » TEhI
4,

Question Number : 193 Question Id : 54592723020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTHT 3T T GgTar T 3ref 3-



Options:

1. v 3TEYT P B

2. % DIST PIY Pl
3. * Scel PIH BT
4. = YA HAT

Question Number : 193 Question Id : 54592723020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTell 3 37197 SETeA gy 1 31 &

Options:

1. v 30T FT FTAT

[ - L
2. % hlSd A hlddl

3. % SIfcel hTH Hid]

4. = TSH Flal

Question Number : 194 Question 1d : 54592723021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pleg B el hgled &T 7Y g-

Options:

1. v U@ gt IITd § oA atel
2. % T BT L aTel]

3. » T G ftetT

4, » T Fiohd L@ ATelT

Question Number : 194 Question 1d : 54592723021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ch‘lw@\ ST ST Haad hr 3T &-

Options:

1. v Ueh &1 UTd H Iolel ol
2. % Ueh hIH hia TTell
3. = T @ aTell




4. » geg GerT Iga arell

Question Number : 195 Question Id : 54592723022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SiereT # ST Y AT THelt 7 T eliehiich ol 319 -

Options:

1. * Udh 9T gl DA

2. * g HIF Tl

3. % TH e S ATAT T THea=T

4. v UFH AT 9 & BIF BH T 9 TR § GheldT T [#Hel T

Question Number : 195 Question Id : 54592723022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfauT # Sl ¢ AT {7l o TH ahlierad FT 39T g-

Options:

1. = Uk GTA Fal hIH

2. % gdd FTH FHlal

3. % TIH F{ad T ARIT KT AT
4

. v Uk AT H & FIH o & TF H Theldl o [Helell

Sub-Section Number: 2
Sub-Section Id: 5459271368
Question Shuffling Allowed : Yes

Question Id : 54592723023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



rer o TTerier oY U@ U T L o 3qaT &

GATY TRTSIT T AN gl - ST UdT gH o1 ATigy 3R gl & 39 8l
P BT YA BT ATgY| LA dg1 31 GhdT g, gl & gHRT Sita IRY
gIdT g 3T g g AT B gATE O i 39 THY ST A IegdT gl 39T
a1 3ITT T &l 3T T ¥ AT I AT U PIRUT g bl & [
T PO QT 31T UTd § U] SV Pl B NHAGHT 3MMUch FuT | g1 ULt
TEATd # TTdT Die g T 3T S QT Y & I BT T Dl ard
9Tl T 3T L U 3TUDhT TET TITH BT G T 3Tk Hum Tehdit
Y Bl PUE T gl 3 T Y AiTd 3T FIGIE H ofieg; G 3MTSTehed bl
et afers a4 & R 98 I o 2w g 2, v g A
&d g1 37T & HEIX H 3Mucht ST IHACIT g1 ST T WK oI ET &1 g oid
AT &7 370+ e § 39 TG AT AT (UHT DI Sl dg T Il 8
dT 3T el ST Wepdl g 3T 1S 31T 31U DI e Yid SSEI g ar 31w
AT # USTE! gl

Sub questions

Question Number : 196 Question Id : 54592723024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GHIT TSI T AT gl g-

Options:

1. vERE
2. % AR Sile & Y |

3. * gHAN 3T
4. % T & A &b JEAT H

Question Number : 197 Question Id : 54592723025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o ¥ 21T Td IgIe, Dl gieg, (g Y gl vl g7

Options:




1. = I T Bl T PLeh

2. * TEI Dl AT T L @ Telq g
3. v U T DY T P BT T[T e

4. % TITH B

Question Number : 198 Question Id : 54592723026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZLAGTRT DI 37

Options:

1. % ST 2T I QG &r

2. % ST 37U O § IEJUC &F

3. * ST SEA ol Y T &

4. v ST ST 37U &1H & Uid IS4 gl

Question Number : 199 Question Id : 54592723027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&Mepd FTHTISIE SIS[C, T g! [eUg 3-

Options:

1. % ST § Hepel
2. v 8T T Al
3. % 28T Pl 9ith
4, * T & 1T 9ith

Question Number : 200 Question Id : 54592723028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A @1 3y g-

Options:

1. # I
2. % SR
3. v 3

4, * i,

Question Id : 54592723023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No




Question Numbers: (196 to 200)

Question Label : Comprehension

sier ford argmer &l Ughe fGU T WRa T 3cal o-

EART TATET T T Fal §- STRI IdT &H o@ar ey dR
Tl T 30 Sk o T e FLaT IIgT| TIT Tal ar ehdT
g, SI@l 8 BHART Slidel URH BT § 3N a8 § 8ART W AN
T T 39 AT T3 GEAAEAT §| ALY g 3T SN HT 301
B & AT &9 JGAY SHT hRUT g Hehell & Toh 8T H
FT A T 9 § W & HT F5 AT 36 0T o &)
T [Pt # 39eT e & o 379 Zof QST 1 T el
T0cal hi| TaT HTAT T 3Tl *{HTWWWW
B o 370k RO TRl Y 1 e o & ST =X HT AT
AT dgre # gig el 3Tstshel T He8 AT 10 I8 & T
IS 39l I S gl oT, F S5 gEY FI AT & &1 37 &
AN H 39enT da7 ToIFAGRT &1 3@ ST AT 99T of &6 o e
3T 9T 37Ut Siidel & 38 Fel16al| Ifg 3T 39T FTH Sk
e G Fld g ol 3T G 37 HFd g AN FfS 3T 39 F1H
& ufa 3T § ar 3T aeda § ST &

Sub questions

Question Number : 196 Question Id : 54592723024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

EANRT TENTET T &9 Fal o-



Options:

1. v B H

2. = AN Sael & 3N A
3. % BAN 3

4. » GT & AEIN & FEAT H

Question Number : 197 Question Id : 54592723025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT A ifd vd e #T gig T T &1 dehal &7

Options:

1. « =T & 2N HT gT Fk

2.« gEdl # fSFrAedl qft & & fav *g
3. v 3Tl QI & gT Flel I ol

4. » derHlFT T

Question Number : 198 Question Id : 54592723026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QRIGIET hle &7

Options:

1. = oY 37 & EF &

2.« ST 3Uel B @ HIE &

3. = S gEal #Y AT T @

4. v ST AT 39S FIH & Ui 39T &

Question Number : 199 Question Id : 54592723027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T HTHATTSIR elsg T Hal 98 &-

Options:

1. % 2eT A HAFd




2. v 3T &l Hod
3. = o1 Fr afea
4. = o7 & fow s1ea

Question Number : 200 Question Id : 54592723028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FT 3T -

Options:

1. = hITOT



